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Topic:- Grad_Nutrition and Health

1) Waist to hip ratio is an indicator of:/ U I faw $T U4, T HbdP

e

1. Pallegra/f'lT'ITﬂT

2. Obesity/lﬂETqT

3. Nail growth/:ﬂq:ﬁﬁ?{@
4. Visibility/ =gdr

Correct Answer :-

« Obesity/ Aem™T

2) Diarrheal diseases, measles and respiratory and other infections resuit

in:/ &% 9 GG INT, TERT 3R Y91 UG 319 AHHUT & IR UIH: gaT e
1. Positive protein and Energy balance/ YdTdH® O g Sl ?I‘g’?l:f
2. Negative protein and Energy balance/ FHUTHD W d ol BLGE

3. Equal protein and Energy balance/ SHM WIcH @ 3ol Sdad
4. None of the above/ C{Qﬁaﬂﬁ@fﬁ%ﬂ’eﬁ'

Correct Answer :-
« Negative protein and Energy balance/ BUTdH® O d $ol LR

3) Objective of National Rural Health Mission (NRHM) is to provide:/?T@TI
yrfior TR R (NRHM) ST 3224 ST BT 8:
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1. To provide quality health care to the rural population/ IO SRIReT &1 HUCKSIEREY

WY TGHTd

2. To provide affordable health care to the rural population/ IO S & T
R GGHTA

3. To provide health care Facilities to especially the vulnerable groups/ﬁﬁﬁq??qﬁ

SRIXfEd TET &1 W S@UTd Jfaumg
4. All of the above/ ITdad waft

Correct Answer :-

« All of the above/ Iudad T+

4) Incubation period of influenza range from:/S-HRITSIT I ITTGa 3afis
GEagavH fifvas) 31 gl &

1. 9-15 days/9-15 f&a

2. 4-9 days/4-9 faa

3. 1-7 days/1-7 faA

4, 1-2 days/l-zﬁ_"[

Correct Answer :-

. 1-7 days/1-7 &

5) Breast feeding is not given when:/ af¢ & Tq9ur_ &1 #v1a §
1. A mother suffers from chronic illness/ WW&&W@‘T@W@

2. Another pregnancy intervenes during lactation/¥d-4rq P SR AT g-: madt 8 s

3. Breast milk has completely stopped or is insufficient for the chiId/lﬁW gﬂ@ﬂ?‘e{
D Ip1 81 I 5 o for Ui 8

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iuad Wt

6) A substance needed by the body for growth, energy, repair and

maintenance is called:/ (&, Sul, Ivwd 3R TWREE & ¢ IR o1 Forg ugrd #t
JTILIHdI gl 8 98 &:

1. Protein/ UIdH
2. Vitamin/ faerfeiq
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3. Carbohydrate/ ®TEIGIZSC

4. Fat/ 941

Correct Answer :-

« Protein/ UIdH

7) 1deal body weight of an Indian reference man and woman respectively

are:/ YR A< ¥ qoW Td Aigar &7 smexi IR HR HART: 3:
1. 70 kg and 60 kg/70 fa31m wd 60 fopom
2. 60 kg and 55 kg/60 fooom wd 55 foban
3. 50 kg and 45 kg/50 {41 Td 45 fbnn
4. 45 kg and 40 kg/45s f&ur g 40 feun

Correct Answer :-

« 60 kg and 55 kg/60 f&u1 Td 55 fun

8) Life cycle of Red Blood Cells is of:/ @Td Iad HITABTSN BT Sitad O &1 gidl

1. 90 days/90 faa
2.110 days/110 feq
3. 120 days/120 f&d

4,135 days/135 fed

Correct Answer :-
« 120 days/120 faq

9) Maternal Mortality Rate is expressed as:/ m'c[q?ga?ao’r & TUH hya
foma <ran @

1. Number of pregnant women dying per 100 of preghancies/ gfd 100 THTTRIS U= Mt
afganst &1 gg &t g=m

2. Number of pregnant women dying per 1000 of pregnhancies/ ufd 1000 THTTRISN T
miad afgarst & gg & I

3. Number of pregnant women dying per 10,000 of pregnancies/ Ufd 10,000 TTHg=T3} R
miad afgarst & gg &t g

4. Number of pregnant women dying per 100,000 of pregnancies/ ufd 1,00,000 TYTgRIT3
R miad! Afgarst & gg &1 J=m
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Correct Answer :-

« Number of pregnant women dying per 100,000 of pregnancies/ Ufd 1,00,000 TYTgRIT3
R Mot Afgenst & gg & dwe

10) In a balanced diet the percentage of total calories obtained from
carbohydrates should be between:/ Tgferd 3MER W HTIFTAICE | WKl $A HaART BT
wfer=ra & 9 g arfgul

1. 40-50%
2. 60-70%
3. 80-90%
4. 90-100%

Correct Answer :-

« 60-70%

11) International women’s day is celebrated on:/ 3=RTSIa Afger feaw Gl
AT ST B

1. 6th of March/6 ATd
2. 8th of March/ 8 A
3. 10th of March/10 #d

4. 15th of March/15 AT

Correct Answer :-

. 8th of March/ 8 ATE

12) What diseases are regularly tested for even during a normal

pregnancy?/ I THTTRT & R {5 T & fere ferafira sira & ot 82
1. AIDS/ TgH

2. Hepatitis B/ gUcTsiey B

3. Down's syndrome/ S’I?FH@I@T[

4. All of the above/ Iudad Jaft

Correct Answer :-

« All of the above/?q?iiﬁﬂﬂ-ﬁ
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13) According to ICMR 2010 additional protein required for an expectant

mother is-/ ICMR 2010 & 3R THad! afgar & fore smawas sifafyaa M & amm &-
1. 10.5g/10.5 7.

2.15.25 g/15.25 .

3. 20.49/20.4 7.

4.27.2 /272 7.

Correct Answer :-

.« 27.2.g/272 7.

14) Which of the following decreased in human body during Dengue fever?/

ST JER & SR A9 IR | 3787 A T °E o141 87
1. RBC

2. Sugar/ Rdh

3. Platelets/ Gfe Y] (Wcaic)

4. Hemoglobin/'sﬂ'lﬂ"?*ﬁﬁ?

Correct Answer :-

« Platelets/ U‘@W (W)

15) Which among the following is not a bacterial disease?/ Eﬁﬁﬁﬂw

Sftaruper=a ¥RT T8 82

1. Diphtheria/ fewiifear

2. AIDS/ TS

3. Whooping cough/ CAIREIRsN
4. Cholera / g

Correct Answer :-

. AIDS/ UgH

16) Nutritional anaemia prophylaxis programme launched by the
Government of India in the Year:/ HRd GX®R GRT WU GIE= IqareqdT IT=RIY
Frdpa Tl H R o mar AT

1. 1982
2. 1980

3.1970
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4,.1972

Correct Answer :-

« 1970

17) Many women have some nausea or vomiting, or "morning sickness,"
particularly during:/ ®% Afgarsii & <t Igers g1 Iafeqd, a1 "Aif~11 e gidl g,
W fRTE R ... FERFE A &

1. The first month of pregnancy/ YR & Ugd HeA
2. The 1- 3 months of pregnancy/ TYTTRIT & 1-3 II'eﬂef
3. The 4 -6 months of pregnancy/ TYTEGRIT & 4-6 HeA
4. The 6-9 months of pregnancy/ TYTTRIT & 6-9 A

Correct Answer :-

« The 1- 3 months of pregnancy/ TYIGRIT & 1-3 He

18) According to ICMR 2010 amount of Kcal required by children 1-3 year age
group per day is:/ ICMR 2010 & SR 1-3 CL mﬁ%ﬁﬁﬁiﬁm 3age® et
Far g:

1. 2100 kcal/2100 fel HaR!
2. 1800 kcal/ 1800 forall HaR:
3. 1690 kcal/ 1690 foral HaR!
4. 1060 kcal/1060 fardll HaR!

Correct Answer :-

« 1060 kcal/1060 foral HaR!

19) Tuberculosis (TB) is an infectious disease caused by the bacterium:/

RPN () TP Gsbras I { S % ST gRI 8T §:
1. Mycobacterium tuberculosis / AIGIGERTH SERG AT

2. Mycobacterium marinum/ ATIGIea I RaH ARAH

3. Mycobacterium fortuitum/ muﬁéaeﬁﬁmqﬁ?&au

4. Mycobacterium chelonae/ ARG IS RTH T

Correct Answer :-

« Mycobacterium tuberculosis / W@Hﬂﬁqﬂaﬁm
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20) “Triple Antigen Vaccine” given to the infants for the prevention of:/

TaTa el @ ... i Awura & g feua e awi= foan siar 81
1. Polio, Diphtheria and Tetanus/ Tifer, fewifear sir feea
2. Diphtheria, Whooping cough and Tetanus/ fSwifear, sret @ret, iR feeTg

3. Tetanus, Tuberculosis and Polio/ f¢-g, C?zl\q{gm\llr%lt-l 3R Tiferdt

4. Diphtheria, Typhoid and Tetanus/ fswiftan, erawiss Sk feeg

Correct Answer :-

. Diphtheria, Whooping cough and Tetanus/ fSwifear, &1el @i, iR feemg

21) Which of the following cannot be included in the diet of pregnant

woman?/ THad afgen & smerR # 59 4 ford znfra 7Y forar s Joar 82
1. Fruits and Vegetables/ %d d qfesd

2. Milk and Milk products/ GY d g4 & 3I1G

3. Alcohol and smoking/ TehIgd \3?|T‘EJ\HL4I-I

4. Cereals and pulses/ 3T d gIal

Correct Answer :-

« Alcohol and smoking/ Wﬁ??ﬁuﬂ

22) The five food group system can be used by the health professionals for
the following purposes:/ fHifHd TSl A WA URIGRT GIRT Ui U Y WUITat
P IUYRT fopar ST Il 8:

1. Tools for nutritional counseling/ GNoT It TRl & greF
2. Food labeling and surveillance system/ Yot eIl &1 dafeliT wd fAvRI a4

3. Explaining therapeutic diet to the patient/ I &1 ITARTHD ATER TH]
4. All of the above/ ITdad waft

Correct Answer :-

« All of the above/?q?iﬁﬁﬂﬂ-ﬁ

23) Which of the following is a essential amino acid?/ Eﬂﬁﬁﬁﬂwm
S et 32

1. Alanine/ QﬂTﬁF[
2. Aspartic Acid/ THETESH 3
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3. Glutamic Acid/ WCTHe 3
4. Lysine/ NIRIRE]

Correct Answer :-

« Lysine/ drARH

24) Which of the following is responsible for measles?/ TR F o g/ @ i
STRGIAY 82

1. Bacteria/ SfIdTq]

2. Virus/ famy
3. Algae/ MIGI |

4. Fungi/ ®da&

Correct Answer :-

« Virus/ faumg

25) Which of the following vitamin can be synthesizing in the body?/ ERL K
PI-91 faerfie IRR & xafya g a@ar 32

1. Vitamin A/ faeifiq A
2. Vitamin C / fderfi= ¢
3. Vitamin D/ fae1if&d
4. Vitamin E/ faeifiq E

Correct Answer :-

. Vitamin D/ faerf= D

26) PEM in pregnant and lactating women can affect the:/ fadt iR wauE
o0 T35 wigarsi ¥ PEM B YUTIIT HR THdT 8:

1. Growth of fetus/ m—@m#ﬁ{@

2. Nutritional status of fetus/ nﬁw&gﬁuﬁw@ﬁ
3. Survival rate of the fetus/ ﬂ@ﬁ]“{[ﬁma
4. All of the above/ Iudad Jaft

Correct Answer :-

« All of the above/ Iudad g+
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27) Poorly controlled diabetes during pregnancy increases the risk of:/

mferr FIRA TR A Fafcaaygis | sreifRm aer @t @
1. Preeclampsia/ mqaﬁiﬁam (E’IECWWJrBTU-Hﬁﬁw +ﬂ§[ﬁﬁ?ﬂ¢l}

2. Early delivery/ ¥99 ¥ Ugd U4

3. Cesarean birth/defaT o=
4. All of the above/ ITdad it

Correct Answer :-

« All of the above/ Sudad Waft

28) Signs of infection of the umbilical cord includes:/ ATFARS] AT & GepHur
& Al § A 8

1. Base appears red or swollen/ &HHRWWHTWE&HW

2. Continues to bleed / I&IHd BId &1
3. Oozes yellowish or white pus/ Giel a1 Ythg Harg Mo aHT
4. All of the above/ B“q?jaﬁﬂﬂ-ﬁ

Correct Answer :-

« All of the above/ Iujad Tt

29) The Kala azar Control Programme was launched in year:/ &Tdl 39X

faauerderad  # sRwgamun:
1. 1980-81
2.1990-91
3.2000-01
4.2006-11

Correct Answer :-

« 1990-91

30) Which deficiency disease has been called the disease of the three D's?/

o =g=ar I F AT D's BT A FHaT WTar 32
1. Scurvy/ Thdf

2. Beri-beri/ sRi-a

3. Pellagra/ UQRM
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4. Rickets/ RarcH

Correct Answer :-

. PeIIagra/aFiT‘JIT

31) Protein deficiency may cause:/ T 1 FH A gl gl B
1. Cough/ @t

2. Burn/ ST

3. Muscle wasting/ U= &g

4. Irritation/ SIS (STaH-+goTe)

Correct Answer :-

» Muscle wasting/ Uzt e

32) The appropriate age range to conceive without risks for undesirable

outcomes is:/ WM%W%WH@WW%@WWW%
1.17-30 years/17-30?ﬂf
2. 20-35 years/20-35 TN
3. 25- 40 years/25-40 T

4. 25- 50 years/25-50 I

Correct Answer :-

e 20-35 years/20-35 g

33) In a child suffering from marasmus, which of the following clinical

manifestation is observed?/ ATWH ¥ Uifsd 9= & g9 A HI9-IT A& 0% Udbed
fearg qar 82

1. Subnormal Temperature/ I ¥ &H ATTH
2. Dehydration/ IEENIERUI

3. Watery Diarrhoea/ g S g

4. All of the above/ Iudad Jaft

Correct Answer :-

« All of the above/ Iudad g+t
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The first dose of vitamin A administered at 9 months of age, along with

measles vaccine is:/ 9 ATE B 3T TR TR B IR & 1Y 3t 718 fae ¥ A 3t ugeht
ISP gl B-

1. 100,000 IU
2.1,000 IV
3. 200,000 IU

4. 300,00 IU

Correct Answer :-

- 100,000 IU

35) The process by which an individual's immune system becomes fortified against an agent is
known as:/ 9g Ufshal, frad g1 aafe &1 uferem o+, f5ft wole & i eRTpa gt war @,
Pt 8

1. Nutrition/ TTSOT
2. Immunization/ UfaReffemur

3. Inoculation/ TR (FHIHaIRM)
4. Malnutrition/ Ul

Correct Answer :-

« Immunization/ UfaR&f&H0r

36) Revised Nutritional Norms in ICDS (since February, 2009) the energy and
protein should be given to the pregnant women and lactating mothers are:/

1CDS ¥ W=NfYa drwor Tt areust (BRas! 2000 |) & AR, Mfadt afgersi iz
U H0 78! Afgenail # & 9 arelt Soif W WA P AT pHR: | g =gl

1. Energy 200 kcal and protein10-12g /200Wﬂ 3R 10-12 99
2. Energy 400 kcal and protein10-12g /400 f&aldarR! 3R 10-12 I
3. Energy 600 kcal and protein18-20 g /6OOW 3R 18-20 UTH

4. Energy 900 kcal and protein 20-25 g /900%%’3 3R 20-25 IH

Correct Answer :-
« Energy 600 kcal and protein18-20 g /6001?0_@%5’[ 3R 18-20 U9

37) Which among the following is a full form of BCG:/ BCGG)‘HBTT-ITHETI'I?I"\&
PI-T 82

1. Bacillus Clostridium Gonadism/ SRR deiRe [SaH e
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2. Bacteria Cholera Guerin/ SacIiaT HIeRT TTuRA
3. Bacillus Calmette Guerin/ SR ®THT URA
4. Bactria Calmette Gonadism/ Sfdeal ®THe MAfSeH

Correct Answer :-

« Bacillus Calmette Guerin/ aRTeRI dHc TURA

38) Disease protected by vaccination under Universal Immunization

Programme is/ are:/ grdifie uferefteur srdwn & siavfa forg A/ R am S
wRer fear T g aE B/d B

1. Diphtheria/ femittean
2. Polio/ iferay
3. Tuberculosis/ &3 T (CISRP el RT¥)

4. All the above/ W & g

Correct Answer :-

« All the above/ W & TH

39) At the National level, the NRHM has a Mission Steering Group (MSG)
headed by the:/ TP TR W NRHM &1 T =M fem-frrawor w9z (Msc) giar & foras
T &

1. Union Minister for Health & Family Welfare/ %410 ¥aT®4 Td GRAR & edro {3t

2. Union Secretary for Health & Family Welfare/ PT WY Td GRAR Hedrol Jiaa
3. Both of the above/ RERCSEAR

4. None of the above/ IWRIdd H ¥ HIg g

Correct Answer :-
« Union Minister for Health & Family Welfare/ %59 a4 T4 URAR HedTu] HAT

40) plays an important role in deciding nutritional status./ TIYU[ &t

Rfss FuRns@d_ wo wsagel yfier Furda 2:
1. Socio-economic status/ STHTI- 3T fRufer

2. Beauty/ gaxdl

3. Clothes/ ®US

4. Sleeping pattern/ Hig &1 e
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Correct Answer :-

« Socio-economic status/ ImaTh-3Mew fRufa

41) Which of the following adverse effects associated with the fetus when
mother use drugs during pregnancy?/ HTAT GIRT THTGRIT & SRTH HIGH USIdf &1
ST fhT o wR MR R & 91y 390 | 19-9 ufaed T4TT TS 8 9@d 82

1. Pre-term birth/ WQ;&‘GFH

2. Undersized head and body/ﬁR?ﬂﬂﬁTW WW@[W@W
3. Physical malformations/ QR fapiaai

4. All of the above/ B“Cl?iaﬂﬂ'l-ﬁ

Correct Answer :-

« All of the above/B“CI?iHﬂ“El‘l-ﬁ

42) Kwashiorkor is caused due to deficiency of:/ FTRRPIR P HH & FRUT

BT &:

1. Protein-energy/ T-Soi
2. Calcium/ &feRrm

3. Iron/ 3RRA

4. Thiamine/ Jipite]

Correct Answer :-

« Protein-energy/ UeH-3ll

43) The National Rural Health Mission (NRHM) was launched by the Hon'ble
Prime Minister on:/ TP UTHIUN WA fHTF (NRHM) HT 3™ AT TUTHAT
SRT___ ! fooar 7T Tl

1. 12th April 2005/12 3%, 2005
2. 14th April 2005/14 310, 2005
3. 12th April 2006/12 3{Ud, 2006

4. 14th April 2006/14 30d, 2006

Correct Answer :-

. 12th April 2005/12 3@, 2005
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44) ICDS comprises:/ ICDS &1 &4 _ﬁ firaTey BT 8:

1. Aganwadi Workers, Helpers and Supervisor/ GHTHE@WZIT W@qﬂa%
2. Child Development Project Officers (CDPQO’s)/ CIGACCAR IR ISR IREIR AR (CDPO)
3. District Programme Officer (DPO’s)/ e SriH SifBT (DPO)

4. All of the above/ Iudad It

Correct Answer :-

« All of the above/ Iudad g+t

45) Each gram of hemoglobin contains about:/éﬁﬁ"?ﬁﬁ?%ﬂ?ﬁﬁimﬁ'ﬁﬂm

___ ®rargl

1. 6.34 mg of iron/6.34ﬁ|‘;IT SR
2.4.25 mg of iron/4.25 o A
3. 3.34 mg of iron/3.34 {3 MR

4. 2.24 mg of iron/2.24 o1 3MARA

Correct Answer :-

e 3.34 mg of iron/3.34ﬁI1JIT ST

46) The ideal body weight of a full term infant at the time of birth should

be:/ 97 & JHY YuicT s Aaurd RIYYF [WR FTMGHA YR g1 A1fe¢:
1. 2.2 kg/2.2 f&un
2. 3.2 kg/3.2 foam
3. 4.2 kg/4.2 T
4.5.2 kg/s.2 o

Correct Answer :-

« 3.2 kg/3.2 T

47) The major nutritional deficiency sign among preschool children is/are:

vd-faemerdt a=it § qryor Gia=h |gAdn S/ YT qET 278
1. Protein Energy malnutrition/ Eﬁ?‘ﬁﬁl’fw

2. Vitamin A Deficiency/ facifie A &1 &t

3. Vitamin B complex/ faeTffA B piraiag

4. All of the above/ Iudad gt
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Correct Answer :-

« All of the above/@éﬂﬂﬂlﬁ

48) Bo%ster doses of which vaccine given orally:/ {5 dRiH $t T TS q@ A
&1 et 32

1. Hepatitis- B/ gUcTsfed- B
2. DPT

3. Tetanus/ feeg

4. Polio/ iferay

Correct Answer :-

« Polio/ iferay

49) Which programme is not covered under the ICDS Scheme?/ ICDS TQIS-T &

AT DI-T HRIHH TE1 AT 32

1. Supplementary Nutrition/ g3 TS0l

2. Pre-school non-formal education/ ﬁ?JITEPJELGf SR fReror
3. Nutrition & health education/ UIYUl Ud TR fR1&fT

4. World Health organization/ fd% areg e

Correct Answer :-

« World Health organization/ fd% =g I6=

50) Rich source of vitamin D is:/ fa@fi p WW@H%:
1. Cod liver oil/ A&l &1 dd (P [eraR 3Higd)

2. Cabbage/ gt

3. Cereals/ 3T

4, Pulses/ aId

Correct Answer :-

« Cod liver oil/ A3 &1 dd (P13 faaR 3izq)

51) Pneumonia is usually caused by the infection of:/ Q]ZHTIEITITHTHWH:
& THHUT GRT B14T o:
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1. Viruses/ faugp

2. Bacteria/ SiIdTY]
3. Both of the above/ IR S

4. None of the above/ SRIad § 9 d?lirﬂ'e?f

Correct Answer :-

o Both of the above/ IR gl

52) Which of the following is not transmitted by mosquitoes?/ 30 B
3R GRT WA =761 g 82

1. Filaria/ WTgaiar

2. Japanese Encephalitis/ IR LSS IE S

3. Malaria/ HARAT

4. Kala-azar/ ®Idl-3vlR

Correct Answer :-

o Kala-azar/ ®Idl-3WR

53) A mineral that the body needed for proper growth and development of

I%:ones is:/ T @i+ ot IR &t 83l @) 3Fa gfS ok faewrw & fore smazawan gidt

1. Sodium/ TifsaH
2. Potassium/ greiRIH

3. Iron / 3TAORA
4. Calcium/ &ferrm

Correct Answer :-

. Calcium/ Sfead

54) Which of the following is a disaccharide?/ Eﬁﬁﬁwaﬁm%?
1. Lactose/ Tderl

2. Glucose/ @Tﬂ

3. Galactose/ TidideIS Thaeol

4. Fructose/ ThaeIol
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Correct Answer :-

« Lactose/ aa?ﬁ\_ﬂ

55) Diet of PEM child should contains:/ PEM TRA T & MR A BT A@IfST:
1. High calorie/ FHart ifdw

2. High protein/ PIMEEIRED

3. Both of the above/ SURI G

4. Low protein/ OicH &0

Correct Answer :-

« Both of the above/ IR el

Topic:- Grad_General Knowledge and Logical Ability

1) What is a slide-title master pair?/ WIgs-clgcd A TR T %'?

1. The title area and text area of a specific slide / T ARy TTse &7 e &7 3R TS
&

2. A slide master and title master merged into a single slide / T WIITS HIXCR 3R i
AR &l Th W58 | I/

3. A slide master and title master for a specific design template / fafRy feomg ¢
& foU Ue Wiz AR 3R Tive AR

4. All of above / Iugdd it

Correct Answer :-

« A slide master and title master for a specific design template / fafRy feomg ¢mae
& oy Uop TaTes TR SR W AReR

2) Which of the following is not included in the term ‘workplace’ under the
Sexual Harassment of Women at Workplace (Prevention, Prohibition and

Redressal) Act, 2013? / TiZaTsil &1 Frdeda < & Ieftew (Rareor, sfde sie gfaa)
Ffataw, 2013 & (Aq 9% ‘FEIT § F9 § § FT ATHAA 81 872

1. Dwelling-house/ smaTag

2. Sports-complex / @a%g %
3. Both of the above / 3T Ml

4. None of these / 9% & FIE gl

Correct Answer :-
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« None of these / 3% & #T$ T

3) DIRECTIONS: Which of the given answer figure will be the correct mirror

image? / fa=n: fu & @ o9 W IR srpfa & i uy snepfa &5t Tt gdur wfafas g
Question Figure: /g9l JRpfa:

&

Answer Figures: | 3ea12 m
) | C°| GolgD)

A B Cc D

1L.A
2.B
3.C

4.D

Correct Answer :-

4) The urine samples of diabetic patients contain:/ 'F[E[a? F IR AT & HA ¥ forae d9ua
fora e &

1. Sucrose/ W

2. Glucose/ W
3. Lactose/ AIgeIg

4. Maltose/ HTeer™

Correct Answer :-

e Glucose/ ’T‘f}l’ﬂ?

5) Raman can do a work in 27 days. Raman and Suraj together can do the
same work in 18 days. If they are paid Rs.12,000 for a piece of work, then
what will be the share of Suraj (in Rs.)?/ Y0 U% &9 &I 27 fe=1l § RT & IHal
T 1 3 3R IR TP 1Y Firae? 39 w10 ) 18 oAl d 1 w7 Iwva 71 afe 3 v feht e
¥ fU %.12, 000 U4 8, 9 R &1 fowan (3. &) | grm?

1. 4000
2. 2000
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3. 6000

4. 5000

Correct Answer :-

« 4000

6) In IPv6 addresses, addresses start with eight Os are called / Gné'(ﬂ'Cﬁ 6 Ud
H, 316 0 A Y= 8IF 91d Ud Hgard 8

1. Unicast addresses /3MRf&rd Ud

2. Multicast addresses / Afeecde Ud
3. Anycast addresses / Anycast Id
4. Reserved addresses / gRI&d Ud

Correct Answer :-

. Reserved addresses / gRf&rd qd

7) DIRECTIONS: In question given below, there are two statements followed
by two conclusions numbered I and II. You have to take the given
statements to be true even if they seem to be at variance with the
commonly known facts and then decide which of the given conclusions
logically follows from the two given statements, disregarding commonly

known facts./f % 9 few ey A € U 3R IS 915 & freed 1 3R 11 faw e §
MUY faE T ST HY= B I ATHAT 8 YA &) 9 Jdgrd aat | =1 udia g1a &f 1 93h
foreput @ ufee e ag Fifoe fo few e fAreeuf & @ $i -31 fAeed fag e Hy=) a1
THHITT U | SRV HIAT &, ITe Fagrd a2 $o i g |

Statements: /HY:

Some engineers are teachers/$9 GTF‘I-ITI-_\-IT, GIW%

Some teachers are efficient/$ JHTUP, TG &

Conclusions:/ﬁwﬁf:

I. Some engineers are efficient/ $ fia<T g g

II. All efficient are engineers/ﬂ‘lﬁ ﬁTRT, GIﬁI'CI-_rIT%

1. If only conclusion I follows /3f¢ &ad FshY I &@TUTW%

2. If only conclusion II follows/afe Had w11 WW%

3. If either conclusion I or II follows/dfe a1 al F15HY 1 AT 1T SIER0I BT §

4. If neither conclusion I nor II follows /afg = df Fsw8 1 7 g1 11 GHHTUTEF{EIT%

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

. If neither conclusion I nor II follows /afe 7 df st 1 78 11 3FARUI FHRaT §
8) Chromosomes are related with?/A[UIRTA TrEfYd gid 32

1. Respiration/ I 3

2. Reproduction/ YsI-- g

3. Transmission of hereditary character/&m '{IUﬁ & RYFR

4. Digestion/ UTd q

Correct Answer :-
» Transmission of hereditary character/ GW ﬂUﬁ & RYTFIART

9) Pointing to a lady in the photograph, Shaloo said, “Her son’s father is the
son-in-law of my mother.” How is Shaloo,related to the lady?/ adR # t&

ATt B 3R SR HIA §Y AT A Bl “IHP T BT 1 9} | &1 S1e 7 | 2o 34
afgar @ foa yor awEiia 32

1. Aunt/dr
2. Sister/dg

3. Mother/lﬁ
4, Cousin/aFﬁrlq

Correct Answer :-
« Sister/dgd

10) A bag contains one-rupee, 50-paise and 25-paise coins in the ratio of 5:
6: 8 respectively. If the total amount of money in the bag is Rs.210, find the
number of coins of one-rupee. /& qd H ¥.1, 50 TH TYUT 25 T & Ry Ft T@&IT HAW:
5: 6: 8 % JUTd ¥ &1 9f¢ AQ & @ YRR F. 210 B, A1 ¥.1 & Ryaep! ) T gra sifvm|

1. 105
2.104
3. 106
4,108

Correct Answer :-

« 105
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When was the scheme of Ashrama Schools in Tribal Sub-Plan Areas

launched? / AT IT-FISET AT H ST FE=TAAT T TISHT Fd A FoRAT 79772
1. 1990-91
2.1991-92
3.1992-93
4. 1993-94

Correct Answer :-

« 1990-91

12) DIRECTIONS: Find out missing number from the figure given below./

foré=r: - & wit srefa ® g WRem e ST

1. 21
2.25
3.35

4. 45

Correct Answer :-

« 25

13) Which of the following schemes was launched on the occasion of the
birth-anniversary of J P Narayan? /% & & &7 9T 3 9Y ATXI0T & S=H-T(A 6T
Aok 9T e TR 13T a2

1. MGNREGA / 59T
2. Swachh Bharat Abhiyaan / Ta=g 9a At
3. Saanjhi / |t

4. Pradhan Mantri Aadarsh Gram Yojana / T&m= =Y smast a1 Tisr=T

Correct Answer :-

« Saanjhi / =t

14) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ farder: frafafed uy o uyeras e ) &
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TR SRTHIT DI HT AT 3T ?

{(52.02)2 - (34.01)2 } + 17.99 x V7 1720
1. 400
2.200
3. 250

4,625

Correct Answer :-

« 400

15) DIRECTIONS: Choose the missing terms out of the given alternatives./

fordam: fou e fywenl & @ qw Ul & J1a B |
__bb_c__bg__b__g

1.cbgbc

2.cgbchb

3.cgbcc

4.gbcbb

Correct Answer :-

e cgbchb

16) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / focan: frafafed uy © usars e ) F
TR T DI T A T2

V3100 x 567 +250=2+8

1. 610
2.670
3.770

4.750

Correct Answer :-
« 670

17) DIRECTIONS: Select the answer figure in which the question figure is

embedded./ fA3%T: 98 IWR e F1d SR Forad wy snpfa AT 21
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Question Figure, Q951 Iy

7

Answer Figure /3713 m
] Vil =

A B C D

1L.A
2.B
3.C

4.D

Correct Answer :-

« C

18) Raman starts from point P and walks toward South and stops at point Q.
He now takes a right turn followed by a left turn and stops at point R. He

finally takes a left turn and stops at point S. If he walks 5 km before taking
each turn, towards which direction will Raman have to walk from point S to

reach point Q? / Y0 P fiig & gférur fa=m & aaaz fig Q W ¥&ar 1 39 a1¢ 98 e
3R fipz a1 Yoo fig R W Thar 31 3id: 98 918 &= g S W I ATdT 31 PR 98 &%
IR g5 9 Ugd 5 foerlt 9an gt ot fig s & g Q a& ugan ¥ forw vu= =t fovw fazm & gam
qSI?

1. North/3«iR
2. South/ &
3. West /DT\%I'JZI

4, East/QX:c

Correct Answer :-

19) Since which financial year has the Backward Region Grant Fund
Programme been delinked from budgetary support? /== & fa<fiz o ¥ fger a
e AT FAFHT T TSET FGIAT | STAT T (AT TAT?

1. 2012-13
2.2013-14
3.2014-15

4. 2015-16
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Correct Answer :-

« 2015-16

20) Which of the following is the world's largest and most unique outreach
programme? / 9% & § S199T T19AT 357 7 999 987 UF 999 JAI6 1 S FIawH g7

1. Rashtriya Bal Swasthya Karyakram / T8 aTeT TaTe2q 100
2. Integrated Child Development Services / a9 fead st fareTe FreET

3. Integrated Child Protection Scheme / FaTFHT aTer H¥EOT FTSIAT

4. Kishori Shakti Yojana / freny erfxe aemm

Correct Answer :-

« Integrated Child Development Services / Rfad aTer fAshTH AT

21) The difference between compound interest and simple interest on a
certain sum for 2 years at 4 % per annum is Rs.1. Find the sum. /& gau=
TR Tohqies SaTST TUT ATYROT TS BT 3R 2 U J 4% Yfaad @l R A 1 . 81 Ao 91
ol

1. Rs.600/%.600
2. Rs.625/%.625
3. Rs.560/%.560

4, Rs.650/%.650

Correct Answer :-
e Rs.625/%.625

22) How many triangles are there in the given figure?/ aﬁmﬁﬁﬁﬁﬁﬁ
=T frat 82

1.5
2.6

3.8

4. None of these/%ﬁﬁ@fﬁ%ﬁ

Correct Answer :-
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« None of these/??lﬁﬁaﬂ'scqﬁ

23) DIRECTIONS: Study the following pie chart carefully to answer the
question given below. / fd=1: fFafufad urg aré &1 wMyd® sieaa & - feg Te uy
& I qifergl

The given pie chart shows the distribution of a family’s monthly budget (in

degrees)./ 3 TS Urs-a1d Us Uf¥aR & AT Td guic & (F&ft #) guifar 81
Total monthly expenditure/ $d HATRI® AT=25,000

Other expenses,/

H=a Wd, 54

il

Education/fR&m, 72°

Travelling/ar=w, 54=

Entertainment/f

]:,:ni;';r, 6= Fmdfm, 144=

Find out the difference between the expenditure on education and
entertainment (in Rs.)./ RRI&T U1 AR W W &7 3R J1d B3 (3. H) |
1. 3000

2. 2500

3. 3500

4. 4500

Correct Answer :-

« 2500

24) What is the full form of SIM? / ¥ &1 TR 0 82

1. Subscriber Identity Module/JsuhIseR 3fSefcc] AlSId

2. Searching of Identification Module/ gidm offe SmgsfeftherrH W
3. Subscriber Identification Module/ TSHHRER 3MSSlchd A Al

4. Selection of Identity Module/ RidiaRM 3ts 37gsfec! Al

Correct Answer :-

« Subscriber Identity Module/JsHbIgaR 3Mgaiccl Hiedd
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25) Which part of tooth is covered with enamel?/gId BT ?ﬁﬂ-m HTRT ﬁﬁ?[ A TrPT a—dT %?
1. Crown/ h13-
2. Root/ {d

3. Dentine/ é?l%q
4. All of these/ JuYad Tt

Correct Answer :-

e Crown/ 13-

26) How many members are there in the National Commission for Women? /

TET AT AT # Fohe s qere gid 872
1.4
2.5
3.6

4.7

Correct Answer :-

e 7

27) In which year did the Ministry of Panchayati Raj constitute an Expert
Group with the task of assessing the IT Programmes of the ministry? /

GATAAT TS HATAT A T6 8 a6 H (U HATAL o AT TT0T HIARHT BT TR LA T [0
I FT T3 [6AT?

1. 2004
2. 2005
3. 2006

4. 2007

Correct Answer :-

« 2007

28) Before 1978, the Right to Property was included under the Article - / 1978
% qd |91 HT ATAHRI AT % HITH ATo8Q 6 siaqaa ar aT?

1.19(1)(d) / 19(1)(™)
2.19(1)(e) / 19(1)( =)
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3.19(1)(f) / 19(1)(=)
4.19(1)(g) / 19(1)(®)

Correct Answer :-

« 19(1)(f) / 19(1) (&)

29) Menstruation occurs due to-RTrﬁ Q«I'Ff _Ea_cIT %—

1. Decreased level of follicle stimulating hoprmone/ Yc AP STHTd P HH I
2. Increased level of luteinizing hormone/ ?jﬁl:l'lgﬁrl"[ EW % aaﬁ ﬁ

3. Decreased level of estrogen and progesterone/ 3@@7{ TYUT Yo &1 HHT I

4, None of these/ E:I'af | aﬁg '_'lgjf

Correct Answer :-

» Decreased level of estrogen and progesterone/ 3@@7{ TUT GO &1 HHT

30) To which of the following is the Hindu Succession Act, 1956 applicable? /
g STatesr srfaaw, 1956 W% § & foha sHi=eaT 9 @] grar &7

1. Follower of Brahmo Samaj / STg[r J9Tsl & aT

2. A person who is a convert to Buddhism / U= =< ST st &H § Fvae g
3. Both of the above / 3Tk T+t
4. None of these / =7H & #IE Tal

Correct Answer :-

« Both of the above / 3T AT

31) According to the Child Marriage Act, 2006, a “child” is a person who has
not completed years of age if she is a female. / ata faaTg srfarf==w, 2006 *
ATETE AigATH | “TTAF” FT ¥ § 98 Aw Seapr S7 ELR QU FRE R

1. 18
2.19
3.20

4. 21

Correct Answer :-
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32) Which of the following diagram shows the Musicians, Instrument Players
and Violinist? /f=1faf@a & & o9 W snpfa Iiftasrl, araeri iR araferm sor aral
@I yefid #dl 82

.©

33) If 'Red’' is called 'Black’, 'Orange’ is called 'Yellow’, 'Blue’ is called
'violet', then what will be the colour of red blanket?/ af¢ ‘@@ &I ‘®TaT Hel
STdT &, AR B dar w81 Sa g, SAar S e S81 ST g, 9 ard siad B S
ghm?

1. Orange/ R

2. Violet/dTHt

3. Black/ohTdl

4. Blue/ taTr

Correct Answer :-

« Black/®Tell

34) The speed of a car is 70 km/h. If the speed is increasing every 2 hours
by 2 km/h, in how many hours will the car cover 358 km? / T SR B Tfd 70
forft/der 81 afe a2 2 9 arg afa 2 frefia} s o @, <t fovaq w¢ & R 358 fpft Fl g w1
D2

1.5 hours/ 5 Te
2.6 hours/ 6 Te
3.4 hours/ 4 Te

4. 8 hours/ 8 Te
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Correct Answer :-

e 5hours/ 5 Te

35) In the Indecent Representation of Women’s Act, 1986, which of the
following is not included in “advertisement”? / wfg=tsii ¥ stgfier whafafere (Fae)
sfer=aw, 1986 F Jqa FH & § HI4T fasew “Rem=” § 781 srun?

1. Notice / wifeq

2. Label / @&«

3. Wrapper / a92q

4. None of these / =48 & #TE T&f

Correct Answer :-

« None of these / za% & #I2 781

36) This address doesn’t change every day? / U8 T34 & fed -T&l agadn
1. Static IP address/ Rfd® MUl udr

2. Dynamic IP address/ SRFTHE 3MsUl TdT

3. Unique IP address/ 3ffgatd 3msdl Ud

4. Common name and number / 9MH AH 3R TR

Correct Answer :-

« Static IP address/ Rifd® 3rstl uar

37) What amount of grant will be provided by the Ministry of Health and
Family Welfare which has made its respective block Open Defecation Free?
/ I SATH Rl Gl | AT T IATH a1 HTHTTAT TATEST 65 Rl Qe A TRETL He AT FA1AT
Rt TR ST aTe Fm?

1.Rs. 1 lakh / 1 9/ =97

2.Rs. 5 lakh / 5 9@ =97
3.Rs. 10 lakh / 10 &It@ =97
4, Rs. 20 lakh / 20 <T@ =99

Correct Answer :-

e Rs. 10 lakh /10 91 =93

38) ABO blood groups were discovered by-/ ABO Y&d qHg Dt @IS DI-
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1. W. Harvey@ﬁ?ﬁa{

2. Went/de A

3. Landsteiner/AIS%I-R

4. Edward J enner/Q@':aé SR A

Correct Answer :-

e Landsteiner/ é’s&‘lﬂz 7:‘[

39) How do you rearrange the date in ascending or descending order? / 31U

a1 @1 RIS a1 JaRIg vH H A [Hafeyd Fd 82
1. Data, table / SIcI, o9d
2. Data, sort/ SIcl, qic

3. Data, form / SIcl, TIH

4. Data, subtotals / SIdI, R S[TAES

Correct Answer :-

« Data, sort/ SIcl, qré

40) Goiter is caused by the deficiency of:/ BT I ot ot | ﬁ?ﬂ %
1. Calcium/ ey

2. Tron/ AGT

3. Phosphorus/ BIRG R

4. Todine/ 3MAIFST

Correct Answer :-

« Todine/ 3MAfST

41) Hormone controlling Basal Metabolic Rate is- / 3TUR IUTq=d} g3 &7 fAu=101 g
1. Adrenaline/Qg Afer
2. Thyroxine/YT&RITRI

3. Insuline/ feH
4. Oxytocin/ SfiaITCIRM

Correct Answer :-

« Thyroxine/YIZR e
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42) In order to pass an exam, a student is required to get 780 marks out of
the maximum marks. Akash got 728 marks and was declared fail by 5%.
What is the maximum marks of the examination?/@qﬂ&nﬁ&_\-ﬁﬁﬁe{%ﬁlﬂ
TS BT DI TUBHa YuIfe T T 780 3P UNE H- B ATARADT 3| SATHT A 728 3 Ut
e 9YUT 5% 3 | STl g1 7T W& &1 Yuife 1 82

1.1040
2.1100
3.1000
4. 1500

Correct Answer :-
« 1040

43) Which of the following is not true regarding the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013? /
HIGATSN T FTAETT I A1 Jcdte (Fareor, giave sz gfaq) sifafaaw, 2013 gre=i fea
AT fashed Tgt 7l 872

1. It came into force in 2014, though it was passed in 2013 / =g sfafazT 2013 © Tl
TR 79T o7, 9%=q 2014 H I AR g3

2. It lay the rules for constituting the Internal Complaints Committee / 7g s forRmaa
afafa &7 o7 F w1 Ao aar g

3. Both of the above / 39k &l
4. None of these / =7H & FIE Tal

Correct Answer :-

« None of these / z7# & &g Tl

44) Which of the following is incorrect for F7? g # ¥ &9 971 F7 & fae 98 T8t

8?

1. To check the grammar/ IR dH B & ﬁ*ﬂ;!
2. To spell check/ Wi 9 A & g

3. Both of the above /B’q?jﬁlﬁ K]

4. To close the window/ fdUS] &g &3 & forw

Correct Answer :-

« To close the window/ faus! s & & fou
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45) Which one of the following is not a search engine? / FE & d P9 1 T
el §oi T8l 82

1. Bing/ fa

2. Google/ T[T

3. Yahoo/ dTg

4. Windows/ fasie

Correct Answer :-

« Windows/ fasie

46) The Mahila E-Haat is a joint initiative of Ministry of Women and Child
Development and/wf2=T $-g1e wfer ud arer fasra wereay & FT EIF TRAE |

1. Ministry of Health and Family Welfare / Tame= 3w 9faTe Fedmor §are

2. Ministry of Human Resource Development / 919 gaTae A gama

3. Ministry of Skill Development and Entrepreneurship / #teret fasm i 3efaar 9=

4. Rashtriya Mahila Kosh / Trgr afg«r s

Correct Answer :-

« Rashtriya Mahila Kosh / Trgrr wfg«r o

47) How many awards are sanctioned per year under the National Overseas
Scholarship Scheme for Scheduled Tribes? / sIg=a SASATAAT F T &+ a9 &
TET TATH STAGIRT TISAT 6 & o LRI HT ATHIGT [ IT JATAT 8§72

1. 10

2.12
3.15

4. 18

Correct Answer :-

48) The average age of 12 players of a team is 25 years. If the captain’s age
is included, the average age increases by 1 year. Find the age of captain. /

12 fRenfsal @ sivaa oMy 25 af 81 afe wwara & 3mg &t +ff =i forar =i at sira 3y
1 99 §¢ Tt 8 | FTH B MY AT B

1. 20 years/ 20 GL
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2. 38 years/ 38 d§
3.36 years / 36 d§

4. 46 years/ 46 GL

Correct Answer :-

» 38 years/ 38 GL

49) According to the UN Convention on the Rights of the Child, a child means
every human between the age of 0 and /ETE Y ITA ATARTL TFAAT (Frai 9T)
FATEROH Y F A A | ATHHA AE FHT T gl SATAT Bl

1.12

2.15
3.18

4. 21

Correct Answer :-

50) In which year was the Commission of Sati (Prevention) Act was passed?

/ =<1 afafa (Tepem) srfarfRas g ad § aria e w@n?
1. 1987
2. 1988
3. 1989
4. 1990

Correct Answer :-

- 1988

51) In which year was the India Newborn Action Plan launched?/ {3 Ta<1d
FTH TITT HE TG T e BT 13m?

1. 2012
2.2013
3.2014

4, 2015

Correct Answer :-
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52) A reduction of 20% in the price of wheat enables a customer to obtain 8
kg more wheat for Rs.160. The price per kg of wheat before reduction was:/

5 & T H 20% HHI 1 R T16P %.160 H 8 531 3 15 @lig ura1 31 gea d s g 4
Ugd Ag &1 ufer feur geg o

1. Rs.8/%.8
2. Rs.5/%.5
3. Rs.6/%.6

4.Rs.10/%.10

Correct Answer :-

53) Which of the following option is true about the Prevention of Women
from Domestic Violence Act, 2005? / = a1 & wigaT d<ervr sttaaas, 2005 qvaweft
A & & 9T fAeT a8t 82

1. Both mental and physical harm is included in this Act / =& srfarfeag & gmfas vd
AT AT TET o §

2. “Child” here refers to person below the age of 18 / =H sfa=aw & “aTars” FT AT g 18 W
T FH IY FT AE

3. Both of the above / 396 T
4. None of these / =7 & FI< Tal

Correct Answer :-

« Both of the above / 39<i=s =T

54) A drug that prevents infection and decay is called a/an:/Q?ﬁ 3N S YpHUT B AP BT
ST Bt §, B Fed 82

1. Antiseptic/ W‘iﬁ

2. Antimalarial drug/ gfa Tafar iufd
3. Antipayretic/ SRATR

4. Analgesic/ tﬁ@T@Tﬁ

Correct Answer :-

e Antiseptic/ il‘llQ!ilfﬁ
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55) In how many total states and Union Territories is the Deen Dayal
Upadhyaya Grameen Kaushalya Yojana present? / $¥ a3Ter SUTeaT® ITHI0r hierear
JIST T Tohae TAT T 3hg ATHHT AT § IURAT 572

1. 20

2.21
3.22

4. 23

Correct Answer :-

. 21

Topic:- Grad_Managerial Skill

1) Total quality managementis a oriented function:/ Fd U~ Ya e T GTf\‘J-IHE

1. People/ @M

2. Quality/ JUTd1
3. Production/ 3digd

4. None of these/stl'ﬁf I ﬁ"if :Eﬁ

Correct Answer :-
« People/ @I

2) Michigan Leadership studies are based on the following approach to the study of leadership:/

IR A9 1T, Aqa & gy 1 fH9 ugfa W smenia 82

1. Trait Approach/ T&I0T TGid

2. Attitude approach/ EGRIRPFEATS]

3. Behavior approach/ d8R UG

4. Situational approach/aRUfIS—g Tgfa

Correct Answer :-

» Behavior approach/ JdgR Tgid

3) Language is important to society because:/ HHIS & ﬁfE HIHT ﬂ?ﬁ'{l’f % Fife:
1. It makes social contact easy/ dg JrATfoTep TP T STt %

2. It raised man from a savage to a noble being/ T Hﬂ&laﬁ Y Wﬁwm%wm%
3. Itis an invention of society/ g HHTS I Udh &T%W%
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4. Tt easily satisfied man’s need of expression /g TS &1 fHfdRT BT SHTaIDAT CARSRGGIRS] II¥ Bl g

Correct Answer :-

« It makes social contact easy/ I8 IS THH I S &

4) CANCELLED

Which of the following is not a stage of the communication process?/ 38 ¥ &9 YAR Ufshar &1

T RO 7 32

1. Feedback/ WISad® (GAARH)

2. Encoding / SIS (TTITET)

3. Channel selection/ AR (I T+

4. Recipient/gTiedl

Correct Answer :-

. Recipient/EITl?IT:b_cﬁ

5) “A social group is a system of social interaction,” Who defined so?/ “TTHIN® I4g, TG
SAThaT B TH YOI 37 I8 Uiy &R & T <t

1. H. M. Johnson/ Td. TH. W&
2. Marshal Jones/ I S

3. Bogardus/ GRS

4, Simmel/ﬁlﬂﬁ

Correct Answer :-

e H. M. Johnson/ Td. TH. W94

6) Sociology is a science because it:/ JHSRIYG Th fagm= g |ife g :

1. Uses systematic methods/ Saafeyd fafert &1 IuaiT e &

2. Is a social change/ Te TSI URadH &

3. Considers finding tentative until verified/ =BT & da g 3FFIH AT § S1d T 3T IATUH T 81 ST
4. All of the above/3Iudad Tt

Correct Answer :-

« Al of the above/3udad T+

7) CANCELLED

The term sociology is coined in the year?/ JHTSIRIRG & 30l Xeg WRMATON B af e
T YT:
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1. 1798

2. 1829
3. 1839

4. 1818

Correct Answer :-

e 1839

8) When culture traits speed from one society to another the process is called?/ Sid Tdh JUTS &
TITFTS A&7 gOR THIST | dolt o 91 § o 39 UfehdT St T HgT oIl 82

1. Assimilation/ SMTcIaRUT/aR TR0 (TRIFCRM)
2. Diffusion/ fa&Ror

3. Pluralism/ ${dbare/dgadiG

4. Evalution/qcdich1

Correct Answer :-

« Assimilation/ 3TETHTA®H UT/GH BT (TRIFATIRM)

9) The Central Social Welfare Board was established in the year:/ % TS HeUT0] 918 $1
RITYT T8 o Y T ot

1. 1980
2. 1970
3. 1950

4. 1953

Correct Answer :-

e 1953

10) Which one of the following is NOT a principle of social group work?/ s=|1?r q P ATHID
e B BT U Ry T 82

1. Confidentiality/ mu-taar

2. Guided group interactions/ B RITARIG e 3fhany

3. Progressive programme development/ WRTfa=id ®rigH fasrT

4. Evaluation of the progress made by the group/THg gRI & T} Ui &1 T

Correct Answer :-

« Confidentiality/ Ta=adm
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11) Social services will not include:/ graTfore darsi & PR T-I'(»pf'ﬁﬁ"ﬂ

1. Care for vulnerable groups / W@Iﬁ WWW&‘W

2. Care for weaker section/ 3(U&THT HUAR qaDb BT Y&
3. Care for affluent/ Y=TaTI T TREUT

4. Care for needy/STERAHG! BT TREUT

Correct Answer :-

« Care for affluent/ ¥aI ST TI&TT

12) CANCELLED

Effective speaking is depends on:/ UMt Hwor _ Rl srars:
1. Context of the oral communication / Aif8® AR & T

2. Prior adoption of delivery style / UG T = & g4 TgUl

3. Absence of feedback/ Ufdgf® @ rufeufd
4. Identification of key points to put across / BSIEERSCASIE G| g ﬁ'_@?ﬁ DI UG

Correct Answer :-

« Absence of feedback/ Ufdgf® &1 srufRUfd

13) Which of the following is not an example of verbal communication?/ ET-I'I?I EEar Q‘IT@E?/
I TAR T TH IS0 a1 32

1. Telephone / THIB A
2. Words/ Qe
3. Writing/ TG

4, Interview/d&Tch R

Correct Answer :-

« Writing/ a4

14) Social insurance includes:/ rifoie A & ?ﬂ'&lﬁ%:
1. Pension/ UxE

2. Unemployement/ SRISTTIR]

3. Disability allawances/ 3{RIaddl i)
4, All of the above/B'CPE[HH it

Correct Answer :-

« All of the above/3udad Faft
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15) The concept of “role” in sociology refers to /) HHTSIRIE | “'ﬁlﬁﬁﬂ" P @R &7 3
E iy

1. Position aspect of the individual/ Sfdd &1 Te/fRufd Tl ugq
2. Static aspect of the individual/ Sfad &1 Ve Uge

3. Behavioral component of status/ %ﬁP:IH & IR THHI gcd

4. Normative aspect of behavior/addgR &l AF®T Ugq

Correct Answer :-

» Behavioral component of status/ 2RId o1 TdER T geh

16) The book “"The Sociological Imagination” is written by:/ ¢ Rm”aiced Eﬁﬁﬁm” qAHP
LS 7 foret 2:

1. Parsons/ URIY

2. Brewer/ §3RR

3. Elliot/ Tferae

4. Wright Mills/313e fireg

Correct Answer :-

« Wright Mills/3Tg¢ e

17) Which of the following theories subscribes to the view that a shared culture is necessary if

a society is to run smoothly?/ 378 I H19-TT RigT 39 faaR &1 IwdF wvar § % 90 &1 gas
1 A gaH & AT 13 WP A T AT D 82

1. Marx/ TRt
2. Mead/ 18
3. Weber/ d&R

4. Durkheim/ g&H

Correct Answer :-

« Durkheim/ g&H

18) The performance norm defines the level of :/ eRH UFE F TR B aRyIfia
Hl &

1. Work Effort & Attitude/sTi Jamg Tg 393
2. Attitude & Contribution Performance/ 338 31X TNTGH e
3. Constructive Criticism/ IdATHD AT

4. Contribution Performance & Work Effort/TNTGH UG 3R &1 T
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Correct Answer :-

« Contribution Performance & Work Effort/aigH UG 3R & Tar

19) The most common indicator of social class is:/ ITHIfTS T BT I 3TH Jhdad %:
1. Race/ St

2. Occupation/ gad™d

3. Education/ fRrem

4. Skills/PTd

Correct Answer :-
e Occupation/ Fad™I

20) When encoding the message, which of the following may be overlooked?/ J¢RT &T HIsH
(TTHIET) HIA THT FAH A DI AoR 3(STS & TPl 82

1. Language/ HTNIT
2. Symbol/ Ui
3. Sign/ Tahd

4. Table/dfereT

Correct Answer :-

o Table/diciaT

21) Which of the following is the element of difference between community and society?/ 38 &
DI IS 3R TATS & d19 & AR BT TP 82

1. Definite locality/ =g RIFdy/wd
2. A group of persons/ il &1 g
3. Likeness of interest/ Sl H THAT

4. Sentiment of oneness/T% $HTs B &I HIGT

Correct Answer :-

« Definite locality/ F=ad RiHAd/=IA

22) The relationship in a secondary group is?/ EGIRED g H TrE= H1 BT 272
1. Personal/ SfaiTd

2. Intimate/ 3=

3. Formal/ 3Tu=TRe
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4, Informal/ﬁqEITW

Correct Answer :-

e Formal/ e

23) Sociology is the study of:/ HHISRIA DT I %I

1. Socio-political institutions/ AT -IoT e TEIT
2. Political system/ JSTAfad o
3. Human behavior/ HIFMd HdgR

4. Society/dHTIST

Correct Answer :-
» Society/dHN

24) Horizontal system of communication takes place between or among:/ ¥ I TR

3t afoet gorret Janfera g &

1. Equal/ IH14q SIK]

2. Superiors and subordinates/ IRY 3rHIRGT 3R SreR—f
3. Subordinates alone/ Had 3fefRIf

4. Superiors alone/ Hdd Ry HfHEIRAY

Correct Answer :-

« Equal/ IHH ST

25) What pair of making team decisions?/ &w fAofg @1 &1 ®-a1 \‘rﬁsT?
1. Lack of response & unanimity/ 3{fehaT 3R AAFT BT HTa

2. Lack of response & minority rule/ 3feaT 3R SeUReA® A &1 UG

3. All votes are equal & recruitment/ T4t 7 THH § U9 Hdf

4. Feedback & unanimity/Sfagf® Td Adea

Correct Answer :-

« Lack of response & unanimity/ 3fshaT 3R TR HT U

26) What is not one of the four important Manager roles?/ Eﬁﬁ aﬁﬂ, TSRS $I AR 'FIEE'lIUf

yftrpra # @ T T8 72
1. Supervisor/ THd&® (JURATZTR)
2. Facilitator/ §HR® (WRIfICeR)
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3. Internal coach/ 3R URIe®
4. External coach/STel UTR1&few

Correct Answer :-

« External coach/dTgl UfRieid

27) Field work in social group work helps to acquire:/ STHTRN®G TYg o1 A &3 $1d, 3ifofa
P T I HRal 8

1. Knowledge/ I

2. Skill/ PRI

3. Attitude/ X341

4, All of the above/B'CIéHH it

Correct Answer :-

« All of the above/3udad Faft

28) Social protection does not include:/ TTHINTG JR&M A
1. Food subsidies/ @Tel 3Mies TgTaag

2. Public works projects/ @& faTor gRaermg

3. Supplementary feeding/ IUR® HTGR

4. Alms/aH

Correct Answer :-

29) Sociologist describe the term ‘Group’ as:/ THSRIA] ‘GYE’ Xeq HI ¥ ¥u H aftfa
HId %

1. Collection of people/ TN & Tha

2. People involved in organized pattern of / 3=afdhar & Tfdd Tei | Jaw al
3. People interacting at a place/ farit ®IF TR 3<afdhar H= I8 AN

4. Participation in a gathering /fddt U/ § U A

Correct Answer :-

« People involved in organized pattern of / 3f<ifshal & TTfdd Te H Ty AN

30) Social rights will not include:/ JMIfo® fFRY & A T8 i
1. Child/ s
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2. Labour/ Hffd/HegY
3. Women'’s rights/ Afgasil & 3ifeieR
4. Care for political section/JS-fde qaP BT TRET

Correct Answer :-

« Care for political section/ITSfdd dad BT I

31) Welfare programmes based on social policy in India are not provided in one of the sector
mentioned below:/ YRd & WIS i 0R smutfyd Heamor HriwH i garg ¢ # 9 te 83 d uegH
I8 {50 o §1 98 P1H-1 8T 82

1. Health/ WY
2. Entertainment/ ARG
3. Employment/ ISR

4. Education/ e

Correct Answer :-

« Entertainment/ ARG

32) Which of the following is not a perspective of communication?/ ERL| Y P FAR BT U
uRiied =181 82

1. Critical/ shifdes

2. Modern/ 3ﬂ§[ﬁ$

3. Post-modern/ WWW
4, Democratic/EITrﬂ?lTW

Correct Answer :-

« Democratic/USTdiiA®

33) ICT is an acronym for:/ ICT T T ATH %:

1. Information Communication Technology/ SPIARM Wﬁw TSI (2T TER Eﬁ?ﬁﬁ'ﬁo

2. Information for Communicating Technology/ SHIHRA HBIR WWT [ a il (GEIR BRG] %ﬂ =)

3. Information and Communication for Technologists/ SPIHRE TS Wﬁw BR %ﬂ:ﬁﬁﬁﬂ (Eﬁ%ﬁﬁﬁﬁ?ff
EEERIEEEI)

4. Informants of Communication Technology/%TCl'T\IﬁEE 3 W%ﬂ? TS (JIR Tt & ATGId)

Correct Answer :-

» Information Communication Technology/ T IHIE Wﬁﬁ? RCRINIR] (GERIREIN Eﬁﬁlﬁﬁ)
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Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./f32r: fRaferfad e
B AFYAP TgH IqP A &0 T ggfamedt uzHi | w6t fawey &1 99 $|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

ge¥e W fIwRUT 950 IR 81 e TIHT & % & It wgm 7iial, el 3R e’} # Suasy 31 fasiw
THRERR, T[T B 31 Feee ASTRI B Heg | Fe-ie A famRur forar o 9aar 81 3ra-Suaiaarsi &t
$exHIE Tl ¢ T WS Bl FexAe Hal Yerdl (ISP) Fed & | GaT, ST B Awadr &1 Hoit gl giar
WR A GIATE THT B3 & T Sexie &1 van foar o awar g1 & ga-ng g, Rifeen, g,
AIFEdUR, FIEY, AR, Ao, e, uﬁﬁwmﬁwﬁﬁmﬁﬁwﬁaﬁm%l?ﬁﬂﬁﬁm
@Wm%sﬁwﬂawwmﬁaﬁmwaﬁél g aT & It YHER-1, RS Ud SRAd
$e3c W U B disas SR I9d HiaTsd grudR Menfifeal 9 36 (Ft didh) oiv 46 (A idh)
3T M | $exAe Aa1 @1 i § Aredty 33 g5 21 3T 9 U1 8 Abs! 8 ghHar R & wureER e awa
§1 getqe A Ol ) HUR $t Haltus JuaS U v @1 g1 §9 g & fodt oft v A §-3a
(AP AT Riey &1 Jfdrafiwon s Twad 81 0 #3 AT Jvedur Iuasy § FFd ee &
WRT Rud-ergw Hexr 49 3R UTe o I &1 g9 bt oft afdr Aiedur &1 Iuaihn w3 oA i ik
TrEfl | 919 R Thd § | AT AR Aedi b Argel W U= R i I J8 ad 81 S Targ
B W 3 37 gradid W $R Thd &1 HIRT AeafdhiT arse gl guRl & a1y fo argn w31 3t giaen o
M 21 39 FH W B F IR 3 et & A1y R Qs # Tod &1 A df 39 QN Aedfh drgel
R RS e ft #5232 T

Which internet browsers discussed in this passage?/ 39 3¢ A f5d Fe-ic A9 31 Tdf Bt
Tt &2

1. Windows explorer/ e Q?ﬁ@??
2. Google/ T[T

3. Chrome/ P

4. All of the above/Sudad It

Correct Answer :-

« Al of the above/3udad T+
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2) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁ%‘\’l: fFrafafad e
P AFYES UgHR 39F -1 G T4 sgfamadt u=al § Ot fowew &1 999 31

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

geve W IR 9gd WRd 81 $ee T &R X & Wil W TTal, Sl SR ekl # Sy 71 faSe
THARR, T B 31 Feve ASwRI B Heg | Fee # famrur frar o 9&ar 81 3rI-Suaiaarsi &t
$eIc AT A a1 WS P S WAl YTl (ISP) FEd & | I, Se-ic Bl Awhardl BT Hoit g1 gi-am
WR Y YA THT B & AT e &1 Wi fhar o Jovar 81 3 A e, fafeen, aifgw,
TIFEAUR, FHYEX, AR, WM, firrdr, vdeq vd pradt nfafaftry @ wwafa 8 wwadt 81 @ fafis
@ﬁﬁﬁ%éﬁﬂawwmﬁﬁ@awm%lgﬁm%WWW TRPI¢ Td SRAd
$eIe R IUAH 71 FISaS 3R I HiaTsd gruaR Menfifear o 36 (st didh) ok 46 (At didh)
3T 9 A Fe-e JaT $t fd & Aed i gfs g5 81 39 g6 9 $© Adbs! H gHaT1 R & JUER fBa gad
21 $exe A Wit ) R F Faiftre Aviwe fFer ver o1 {1 g6 g & et s A -aw
(AT AT Ried &1 Ifdrafiwon de Iwd 81 ¥Q +3 AT Jieedur Suas & PFd e &
T RUd-ergw w1 A% 3R UIT o I &1 g0 Bt oft Afdr Aiedur &1 Suahn s oA e ik
TrEfRRl | 919 R Thd § | AT WA Aeai b1 "igel W U= R B I J8 Gdbd 81 S Targ
B W 3 I gradid W $R Ahd &1 IR Aeafdh T ase gl gunl & a1y fo argn w31 3t giaen o
0 21 89 B W BN F IR Srun sl & a1y R Arsn &% Ioa &1 dRT a9 W Aeaf e Agel
W AUNRS dig Wt #3771

The key to success of Internet is the:/ g3 FI Twhadr B Hoil 8:
1. Information/ =T

2. Audience/ GI&HTOT

3. Television/ CeiifdeT

4. Newspaper/JHHR-UH

Correct Answer :-

 Information/ =T

3) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad wei=r
P! ATFYAP TP 9P - fed T4 agfawed] w=al # 9l fawew &1 994 +¥|
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Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

ge¥e W fIwRUT 95 IR 81 S U & % & It ugm 7iial, Sl 3R =reR) # Suas 31 fasiw
THERR, T[T B 31 Fee TSTRI B Heg | Fe-ie # famrur forar o 9aar 81 Sra-Suaiaansi &t
$eIc ¥aT A a1 WIS P Sex-Ic WAl STl (ISP) FEd & | JII, Se-ic Bl Awhardl B Hoit g1 gi=an
WR Y YA THT B4 & AT Sexie &1 Wi fovan o Joar 81 3 A e, fafew, aifgw,
TIFEAUR, FIEX, AR, TR, firrdr, wde vd prudt nfafaftry @ wwafRa 8 wwdt 81 @ fafis
@amﬁ%@wﬂawwmﬁaﬁ@mwaﬁ%l a1 & @it FHRR-u, 1@ Td SR
ge¥e R I 31 Hisds 3R I AiaTsd RuaR Mefifear 9 36 (st didh) oiv 46 (@A didh)
3T oM A $exAe AaT &1 i § Ared iy 33 g5 21 3T 896 U1 9 Adbs! 8 ghHar WR & ueR e aed
?1 getHe A Ol B TUR $t Haltue Juas &G e @1 g1 79 g & fodt oft v A §-3a
(AP AT Rey 1 Jfdrcfiwon I @ 81 ¥Q F3 AT Jvedur Iuasy § FFd ee &
WRT Rud-ergw Hexr 49 3R UTe o I o1 g9 Bt oft Afdr Aiedur &1 Iuaht w3 orm i oik
Trafal A 919 HR Thd &1 A WA Aedi e "gel W 3= WA A | 98 96d &1 39% ifarg
B W 3 I gradid W $R Thd &1 IR Aeafdh T arse gl gunl & a1y fr amgn w31 3t giaen o
T 21 39 ZH W B F IR 3 et & A1y e qren # God &1 AT A 39 WA Aedfh drgel
W RS Wi W B2 @ 7

Which information is collected from around the world?/ gﬁ'CIT W Bi-40 A1 ThA CAR | %?
1. Education/ f2rem

2. Medicine/ Rifdra

3. Literature/ e

4. All of the above/Iudad Tt

Correct Answer :-

« Al of the above/3udad T+

4) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁ%'!H: frafefea =
P! ATTEP UgHT 9P - fed T agfawed] u=al | ugl fawen &1 99+ +¢|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
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end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

geve W IR 9gd WRa 81 $ee T &R X & Wl W Tal, Sl SR ekl # Sy 71 faew
THERR, T B 31 Feve ASTRI B Heg | Fe-ie H famRur forar o 9ear 81 rI-Sudiaarsi &t
g AaT A aTd WS P Se3-Ic WAl YTl (ISP) FEd 8| I, Se-ic Bl Awherdl B Hoit g1 gi-ar
WR Y YA THT B4 & AT e &1 Wi fhar o goar 81 3 A e, fafewn, aifgw,
TIFEdUR, FIEX, AR, Ao, e, W@mﬁmﬁwﬁaﬁm%lmﬁﬁm
@ﬁgﬁﬁ%gﬁwﬂﬁrwwm&ﬁaﬁ@amm%lgﬁm%WWW IS¢ Ud RAd
$ee W IUAH 71 FISaS 3R I Hiasd RuaR Menfifear o9 36 (st didh) ok 46 (adt didh)
3T 9 &V Fe-e JaT $t fd & Aed 1 g g5 81 39 g6 9 $© Adbs! § gHaT R & JUER fBa gad
&1 $eve A Wit ) TR 9 Taifte Aue QA yem 9 81 59 g & Bl M s A €-aa
(AT AT ey &1 Ifdrafiwon s @ 81 0 +3 AT Jivedur Suasy § FFd §ee &
T RUd-ergw w1 4% 3R UTT o I &1 g0 Bt oft Afdr Aitedur &1 Suaht s orm e ik
TrEfRRT | 919 R Thd § | AT WA Aedip Argel W U= W B I I8 dd 81 37 iTarg
B W 3 I gradid W FR Thd g1 IR AedfdhiT arse gl guRl & a1y fr amgn w1 3t giaen o
0 21 3 B W B F IR v sl & a1y R ArEn &% g@a &1 @R dt 39 W Aeafe Agel
W ARG wte ft #7 3 B

What is the full form of 3G?/ 3G HT T -ITH T 82
1. Three generation/ ¥ SFREM (i digh)

2. Third generation/ 48 ST (IRt T

3. Third group/ 43 U (FRT TE)

4. Three group/dt U (7 Ig)

Correct Answer :-

« Third generation/ ¥S SFRTA (a3 didh)

5) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAaferfad e
P! ATYAP TP 9P - fed T4 agfawed] w=al # udl fawew &1 994 +¥|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
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entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

g3 W AR 95 WA 21 S W &R o & Tt v T, e ok wesl # Suasy B1 fieiw
TR, T HIH 31 Feve AISwRI B Heg | Fe-ie A famRur frar o 9&ar 81 =I-Sudiaarsi &t
$eIc a1 A a1 WS P S AaT USIaT (ISP) FEd & | I, Se-ic Bl Awherdl B Hoit g1 gi-ar
WR A YT THT B & A et &1 Wi fovan o aoar 81 3 A e, fafen, afgw,
TIFEAUR, FHYEX, AR, WM, firrdr, vdeq vd pradt nfafaftry @ awaffa 8 wedt 81 @ fafts
@G{m%sﬁnﬂawwmﬁaﬂ@aaﬂmélgﬁm%vrmww IA®TY Td SRAA
3o W U F1 disds R I9d HiaTsd RudR Menfifeal 9 36 (st dih) 8w 46 (AR Widh)
3T 9M A FewHie JaT Ft 1fd & Aed i gfS g3 81 3T g6 9 $© Adbs! H gHaT R & gUER fHa gwd
Tl gt A Wit B TUR $t walfie Juas @ ver o1 31 g g & it s A §-3a
(FAFIP AT ey &1 Ifdrafiwon Je @ &1 09 +3 AT Joedur Suas § PFA e &
Tfve Rad-ergw Hexr Wt 3R UTe o wad 81 89 =it oft e Aivedar &1 Suait e v st 8ik
TrEfRRl | 919 R Thd § 1 AT WA Aedi s "igel W U= WA A I J8 aod 81 37 iargd
T W I aradia Wt FY Fod &1 HIRe Aedih urge g6 gkl & a1y R aren A 3t gfaer oft
N ?1 U TH W A F IR 3un Rrgel & A1y R Argn w1 wwa &1 @R A 37 W Aeafh argel

W AURS g Wt 73 @ T
There are many that can be used to send and receive real-time messages over the
internet:/ T3 &3 Iuasy § oM Sexde & AT fRga-ersy Wa=r Ut 3R UTe o 9@ d &

1. Chatting software/ T AleaTR

2. Grouping software/ ‘gﬁﬂ HloedaR

3. Internet software/ 32@? TR

4. None of the above/B’CIﬁTﬁ 7Y aﬂs‘ T8l

Correct Answer :-

« Chatting software/ 3fTT TlgedTR

6) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad e
DI ATYED YgHY 39D - f¢d T agfawed! w=Al | Tal fawed &1 a9+ B

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
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are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

gee W fIwRUT 95 IR 81 e U & 3% & It g Tial, Hal ok ekl # Suas 31 faSiw
THRERR, T B A Sexe ATSTRI Dt Heg A Fe-ic § faavur fohaT off Jobar 81 d-Sudiadiaii &t
$eXAC JAT &7 AT WIS B eI AaT USHaT (ISP) FEd @ | A, e+ &1 Ihadl $1 Hoit g1 giar
WR Y YT THT B & AT Sexie &1 Wi fovan o Joar 21 3 A e, fafew, aifgw,
TeAUR, HIEX, ATIR, Ao, fEar, wes vd prud nfafaftr @ wafRa gt wwdt 31 & fafie
@Wgﬁq‘r%zﬁwﬁﬂwwmﬁaﬁ@wmm%l g & @it SHER-u, e Td SR
ge¥e R I 21 Hisds 3R I HiaTsd RUgR Mefifear 9 36 (st didh) oiv 46 (@At didh)
3T M A $exAe a1 o1 1 § Ared iy 33 g5 21 9F 39 U1 $° Sabs! 8 ghHaT WR & wuER e awa
Tl gt A It B TUR F waifte Juras @ ver @1 31 g g & i M e A §-3a
(FAFRP AT Rivey 1 Jfdrcfiwon I T@d §1 00 #3 AT Avedur Suasy § FFd e e &
WY Rud-ergw Hexr 49 3R UT o I &1 g9 bt oft Afdr Aiedur &1 Iuain w3 o= i 8ik
Trafra) A 919 HR Thd 8 1 A WA Aeaf S "gel W v WA A A 98 g@d &1 3% ifarg
B W 3 39 gradid W $R Thd | HIRTA AeafdhT arse g8 gunl & a1y for |mgn w37 3t giawn o
T 21 U P W BN F IR 3= el & A1y R Qs # TFd &1 AT df 39 QA Aedih T drgel
R S e +ft 2 33 T

How can the people connect with old friends?/ @I E?ﬁ e @ H s THhd 8?2
1. Social networking sites/ I Aeafpi ?ﬂ%ﬁ I

2. Social teaching site/ Trrd AT Hléa T

3. Social learning site/ Jr=re T Fﬂ%‘@[ J

4, All of the above/ C{q?i'cﬁ it

Correct Answer :-

« Social networking sites/ TIRIA Hedfdh T TZel o

7) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁIi’QT: frrafafad e
P AFYES UgH 39& -1 33 10 sgfamadt u=al § Odt fowew &1 999 331

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
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discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTAR-UF UG-G B1 GE0T 9049 & faspR & a1y frar I 7g iR Suahil SugR 81 JHaR-
T fed Y I & | SR TGl 31 I8 S g Bl geTe & IR A giia vadr 81 98 59 Bl
3P 31 Ug U AfRI=ITel SRR Aeaw 3R U WfRITel 96 1 98 Tod BT WP 3R WA USRI
Td Wl 1 U8 ¥ 39 S B1d & T ot waivT farar o W @ iR g o & forg it g famry &1
P 8| 98 faar), Rrgr, 39 W 31 Tft fewforat & Barar 8, WeRI, @ ik 9! nfafafRay
TUTARAT HIT 31 g SHd $T TP fRITE 3aUd g1 I8! R ¢ fF ag oiar & Wadr 8| HER-
T R e Sita &1 AT ST 991 g% §1 TUAR-TT g gAR W SR fdmi F aR A it ek &
TUTER a1 8 | GHTER-UH $T UTe® JTdei-1e ATHA & TUd H Igal 8 | HER-US Ji9 &1 o3 rarsi o
I AT Far € 3R S/ T IR FEAE Yo HT 8 | THER-UF U | 79 &1 e gia1 31 399 86
it Tft Wit SR SfIshRY & A W oI Udhd &1 T8 89 TAR SIUPRI 3R P! JRET H H-1 @
39 IR | W TaraT 81 399 79 W 33-9% Wt 9 wwa € 7% g o wn g w1 31 weeR-uA a6
g & @ft fafis i1 @ awgd | wadr g1 aur st axget @t fawt gem & e saeR-w o
fammo 34 €1 9 TeER-wE # e o Rl gkl 8, s it oY Rt el § avget & ge
THHHH TEA § Weg e 8 1| sueR-u uiftfe faua, e, sarsi vd i & R § R 9 guame 3@
8 R Y F1 3mare Wt RpiS Fear 81 FHER-UF &1 Fafia ures rdwfe el & 9R § e 9RT 94
JfSfa B FHal 8 1| TIER-UF W faar®! 3R gRifF®! & faar g9 a@ ad §1 3 S79d &1 ATHR 3d §
3R 39 ufafafa s3a 21

What was invented with the help of printing machine?/ Ul =i &) gerer ¥ feaeT snfaserR
forar T ur?

1. Radio/ 3f&dt

2. Television/ ealifavd

3. Newspaper/ JHRIR-UF

4. All of the above/Suad It

Correct Answer :-

» Newspaper/ HMR-UA

8) DIRECTIONS: Read the passage and answer the questions that follow./fé=r: fAaferfad wei=r
P! ATYEP UgHT 9P - fed T4 agfawed] w=al # ugl fawey &1 99+ +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
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information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTAR-UF UTHA-S1fd B GEo1 9049 & nfaspR & a1y frar aa 7g iR Suahfl SuekR 31 WHER-
3 aafet Y It & A SR T@dT 31 98 S99 g 1 geTe & R A gRia vadr 81 98 599 Fel
e 81 98 UH AfFa=Imell SH¥aR A1ead 3R U ATRIRITeN 9 81 98 9 BT WP 3N AFATRIBRI
Tq TWa-adl &1 Uest 81 39 o did & g off wah faran < weran @ SR ¥ ol & forw oft) o famri 1
e g1 Ug far, Rigrl, 391 W 3t i} fewfrat &1 Hramar 8, TWaRY, @l iR 391 nfafaftry
THTEIHT Bl 8| T A BT TP Rl 3aad g1 & RO § % 98 Sa1 31 Wadr g1 JHER-
U3 §UR ¢ SitaeT &7 Sifid 3T 991 g &1 THAR-UF g9 gUR W 3R fgxi F IR Al R &
TUTEAR T 3| THER-TA] &1 UTe® Arauie Jidl & Hus 8 gl 8 | THER-UF F19 &1 &3 arsit
3 Rfera wvar 8 ok 39 R IR FIAE UM HXdT 8 | GHER-UF UeA & I &1 fasT gidr 31 599 g9
Tt T} Gt ok SfIsHRI & IR T 99 THd &1 98 59 gUR ATUBRY 3R ITHT GRam FA Ft §
U6 IR | W IaTaT 81 399 79 W 35-9¢ Wt oI wand ¢ % gt | w1 g ¥e1 31 HHeR-uA ann &Y
g & @t fafis it @ awd & waar g1 aur st axgatt @t fast gem & g saeR-w o
faqm= 33 81 9f% THER-uA A IR @1 Ruid 10 §, $99 sl o fafte el § axgei & ge
THIAM WA H Heg e 81 TeR-ux aifife faud, @), wansi vd Wia & ar # 3R IR gEAn 3
& 3R Wy Tt armare +ft RPIS Tl 31 FHAR-UA F1 Fafi urew Adei-e ard & R § ¥ 9R1 91
Sifofa X Tar | THRR-UF 7 fAaR®! iR qRife! & faar 50 a@ @ §1 3 S ud & PR a8
3R I wfafafraa #a €1

What is newspaper said to be?/ HHRIR-UA Cako)| Dol SIrdl ??
1. A powerful media/ Teb QIfaa=ITel H1eqH

2. A useless media/ U SIUART H1eH
3. A boring media/ T =R¥ HITH
4. All of the above/ Iuad Tt

Correct Answer :-

« A powerful media/ U Qfa=ITc A1eqd

9) DIRECTIONS: Read the passage and answer the questions that follow./fé=r: fAaferfad wei=r
P ATYEP UgHT 3UP - fed T agfawed! u=al | ugl fawey &1 994 +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
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information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTAR-UF UTHA-S1fd B GEo1 9049 & nfaspR & a1y frar aa 7g iR Suahfl SuekR 31 WHER-
3 afed Y It & | SR T@dT 31 98 S99 g Bl geArel & IR A gRia vadr 81 98 59 Fel
SfRUF 31 U U A= TR AT 3R TP ARl 96 31 98 Td BT INYP 3R AHANUBRI
TG Wl BT Uest 81 39 o drd & g off wah faran < weran @ ok ¥ 1l & forw oft) o faml 1
e g1 Ug far, Rigrl, 39 W 3t i} fewforat &1 Hramar 8, TWaRY, @l iR 391 nfafaftry #
THTEIHT Bl 8| T A BT TP Rl 3aad g1 & RO § % 98 Sa1 31 Wadr g1 JHER-
U3 gUR ¢ SitaeT &7 Sifid 3T 991 g &1 THAR-UF g6 gUR W 3R fi F IR A R &
TUTEAR T 3| THER-TA] &1 UTe® Traui-e Jidl & Hus 8 gl 8 | THER-UF F19 &1 &3 arsit
32 Rifera wvar 8 ok 39 R IR FIAE UM HXdT 8 | FHER-UF UeA & I &1 fIeT giar 31 599 g9
Tt T} Gt ok SfIsHRI & IR T 99 THd &1 98 59 gUR ATUBRI 3R ITHT G FA Ft §
U6 IR | W IaraT 81 399 79 W 33-9¢ Wt oI wand ¢ % gt | w1 g ¥eT 31 HHeR-uA ann &Y
g & it fafie i 3 Wk | vaar 81 ARt st axge 3t fawt sem & o saemR-w |
fagm= 33 81 9f% THER-uA A IR @1 RUid 10§, $99 sl o fafte el § axgei & qe
THIAM WA H Heg e 81 TeR-u aifife faud, @), wansi vd wia & ar # R IR gEAne 3
& 3R Wy 3t 3T +ft RPIS Tl 31 FHAR-UA F1 Fafi urew Adsii-ie aral & R § & 9R1 91
Sifofa X Twar | THRR-F 7 AR 3R qRife! & fauar 50 a@ @ §1 3 S ud & PR ¢a &
3R I wfafafraa #a €1

Newspaper is avehicleof  :/HHRR-UA___ DHIdlgdh ?:
1. Picture/ =R

2. Thought/ fd=R

3. Money/ 44

4. All of the above/Suad It

Correct Answer :-

« Thought/ fdaR

10) DIRECTIONS: Read the passage and answer the questions that follow./fadsr: fRafefad
TR $ ATTYAP UgHY 3UP - e T4 agfaswed! w=al # 98l fawey &1 a4 +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
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information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTAR-UF UTHA-S1fd 61 GEu1 9049 & snfaspR & a1y frar 9a 7g ik Suahfl SuskR 31 JHER-
T afed Y It & A SR T@dT 31 98 S99 gt 1 gerel & IR A gRia vadr 81 98 599 Fel
SfUF 31 U UH A= TR AT 3R TP ATl 96 81 98 Td BT INYP 3R AHANUBRI
TG Wl &1 Uest 81 39 o did & g off v faran < weran @ SR ¥ o1l & forw oft) as famri &1
e g1 Ug far, Rigrl, 39 W 3t i} fewforat &1 Hramar 8, TWaRY, @bl iR 391 nfafaftry #
UG Bl 8| T A BT TP RIS 3aad g1 & RO ¢ % g8 Sa1 31 WaddT 81 JHER-
U3 §UR ¢ SitaeT &7 Sifid 3T 991 g &1 THMR-U7 9 gUR W 3R fxi d IR Al R &
TUTAR T 3| GHER-TA] &1 UTe® Traui-e Jidl & Hus 8 gl 8 | HER-UF F19 &1 &3 arsit
3 Rfera wvar 8 ok 39 R IR FIAE UM HIdT 8 | FHER-UF U & I &1 fasT giar 31 59 g9
Tt T} Gt ok SfIsHRI & IR T 99 THd &1 98 59 gUR ATUBRI 3R ITHT G FA Ft §
U6 IR | W Tara1 81 399 79 W 33-9¢ Wt 9 wand ¢ % gt | w1 g ¥e1 31 HHeR-uA ann &Y
gt & Wit fafie i 3 Tk | vaar 81 AR ot axge 3t fawt sem & o wamemR-wt |
faqm= 33 81 9f% THER-uA A IR @1 RUid 10§, $99 sl o fafte el § axgei & ge
THIAH WA H Heg e 81 TeR-u uifife faud, @, warsi vd Wia & ar # R IR gEAn 3
& 3R Wy 3t 3T +ft RPIS Tl 31 FHAR-UA F1 Fafi urew Adi-re aral & R § & 9R1 91
Sifofa X Thar | THRR-UF 7 AR 3R qRife! & faar 50 a@ @ §1 3 S ud & PR ¢a 8
3R I ufafafraa wa €1

The reader of newspaper remains in touch with : [IATEIR-U3] $1 U6 h & Yub A
TEAr e

1. Peoples affairs/ @RI & A

2. Public affairs/ Grdsi-es HH

3. Parties affairs/ OTf¢dl o Al

4. None of the above/IWRiad | ¥ PIs ol

Correct Answer :-

« Public affairs/ A ATHAT

11) DIRECTIONS: Read the passage and answer the questions that follow./ 321 fFafeafaq
TR Y SAFYdP UgdhR 3P - fad T4 agfawed! u=l # 9l fawey &1 9= B3|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
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newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of nhewspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTIR-UF UTHA-S1fd 61 Ggor 9049 & nfasp R & a1y frar 9a 7g ik Suahfl SueR 31 WHeER-
U AT Y ITANT & | 0 7@l ¢ | 9§ S g1 &1 geHTe & IR A Giud vEdl 81 9§ 599 Fel
3 81 98 e fFI=Imell SHYEUR A1ead 3R U WAfRIRITeN 9 81 U8 T BT WP 3N AFATRIGRI
UG Wa~dl BT U8 81 39 3 $1d & forw oft wah far o Tavar 8 3R R &1d & forw ot | ag fmmrY &1
e 81 g8 faar), Rigr, 39 W &1 Tt fewfora) & Barar 8, WeRI, @ 3R 3991 nfafaftay #1
TUTAAT BT 3| T§ T9d HT TP TR 3aUd g1 Tgt PRI ¢ {5 a8 oar 1t Wadr 8 | GHER-
T R & Sita &1 ST ST 991 g% &1 THER-UF g9 8AR o 3R faeei » SR A it vvk &
TJHNER 1 8 | GHTER-T3] BT UIe® JTdui—e ATHA! & Jud H 3541 &1 JHRER-UT J19 31 $ rarsi &
3 Rifera Hvar 8 ok 3R &R AR FIAE UeH Hedl 8 | FHER-UF UeA & 719 &1 e giar 31 39 g9
T Tt Tieil SR SMfAPRY & TR W o Thd &1 T8 g0 guI SRBRI 3R ST JRa&m $A &3 @
U6 IR | W Tara1 81 399 79 W 33-9¢ 2t oI wwa € % gt o wn g ve1 31 weeR-u | &Y
g & it fafim S 3 Wk & vaar 81 A st axg e 3t fast em & o waemR-wEt o
fagmo= 33 81 9f% TurER-uE A IR @1 Ruid 910§, s99 sl o faft <Rl d axgei & ge
THIUH T A Heg frad 31 JuremR-ux utfife fawa, we, wansi vd wifta & ar # % 9t geeme &a
& R Y F1 31are Wt RP1S Fear 31 FAR-UF &1 Fafia ures e arel & 9R § e 9RT 94
JFfd H TP 81 THER-TF HeH RS 3R eRife! & fuR 0 @ @d €1 3 5H9d 3 3MPR dd &
3R 39 ufafyfraa s &

What do businessmen advertise on newspaper?/ IR} JHER-UF # {9t fagmu- 34 82
1. Their news/ 30 JHRIRI &1

2. Their views/ 30 foaRy &1

3. Their attitudes/ 30 33T T

4. Their goods/ 3T a¥g3ff &1

Correct Answer :-

« Their goods/ 3Tt a¥g3f &1

12) DIRECTIONS: Read the passage and answer the questions that follow./f32r: fFafefaq
TR Y ATFYdP UgdhR 3P - fad T4 agfawed! u=l # 9l fawew &1 9= B3

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
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newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of nhewspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTIR-UF UTHA-S1fd 61 Ggor 9049 & nfasp R & a1y frar 9a 7g ik Suahfl SueR 31 WHeER-
T AT Y ITANT & | 0 Gl ¢ | 9§ S g1 &1 geHTe & IR A Giud vEdl 81 9§ 599 Bl
3 81 98 Uw fFa=Imell SHUTUR A1ead 3R U WAfRIRITeNt 9 81 98 T BT WP 3N AFATRIGRI
UG Wa~dl BT U8 81 39 3 $1d & forw oft wah far o Tvar 8 3R R &1f & forw ot | ag fmmrY &1
e 81 g8 Ry, Rigr, 39 W &1 Tt fewfora) & Barar 8, WeRI, @ 3R 391 nfafaftay #1
TUTAAT BT 3| T§ T9d HT TP TR 3aUd g1 Tgt PRI ¢ {5 a8 oar 1t Wadr 8 | GHER-
T R e Sita &1 AT ST 99 9% §1 THER-UF g §UR ¥ 3R fae= & aR A it veR &
TYHRER A1 8 | GHER-T3] &7 UIe® JIduie ATHA! & Jud § Igd1 &1 JHRER-UT J19 31 $3 rarsi &
32 Rifera Hvar g o 39 &R IR FIAE USH ST 8 | FHER-UF UeA & 79 &1 fIeT gidr 31 39 g4
T Tt Tieil SR SMAPRY & TR W o9 Thd &1 T8 g0 gul SRBRI 3R ST JRa&m $A o3 @
U6 IR | W Tara1 81 399 79 W 33-9¢ 2t oI wwa € % gt o wn g ve1 31 eeR-u | &Y
g & it fafie S 3 Wk & vaar 81 AR st axg e 3t faet em ¥ o waemR-wt o
fagmo= 33 81 9f% TurER-uE A IR @1 Ruid @0 §, S99 sl o faftie ekl d axgei & ge
THIUH T&A A Heg e 31 JueR-ux utfife faua, we, wansi vd wifta & IR # % 9t geeme &a
& R Y F1 3mare Wt RP1S Fear 81 FAR-UF &1 Fafia ure s e el & 9R § e 9RT 94
Jffd H TPl 81| THER-TF HeH RS 3R eRife! & fuR 0 @ @d €1 3 5H9d $ 3TPR dd &
3R 39 wfafafa s B

: [ ATER-UT nfife fawal

Newspapers give a lot of information about religious topics and

R__ IR R 9N I I o
1. Sports/ Wddba

2. Arts / 3¢q

3. Music/ Sid

4. All of the above/3udad Tt

Correct Answer :-

o All of the above/thgTﬁ et

Topic:- Grad_Child Care and Education

1) Which of the following household materials helps children in home

based learning for creative activity?/ ﬁaﬁﬁﬁwﬁaﬁqwﬁﬁ,m
ST A T nfafafiry @ a= 3t deg Hrdl @2

1. Plastic covers, plates, containers, used papers, news-papers, straws/ gl [E5EE hdy, l-@ld, I ®§|,

AT fHU gU ST, JHER U, diferdi



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

2. Pieces of wooden materials/c'ld75_nl & IHHE & gdpg
3. Glass materials/&1d P AT

4. Broken pieces of electronic items/<¢ g Aw'\'lcb d%g&ﬁ & é’% HIAT

Correct Answer :-

« Plastic covers, plates, containers, used papers, news-papers, straws/ e Pay, l-aé, I ®§|,

sﬁﬂmm@zdﬂw JOEIR U, <o

2) Which of the following is formal guidance relating to child protection

work? /9 & & 919 I1 Siuaiye Anifad, aTel W& &rd 4 Jafia 82

1. Working together to safeguard child (2006)/&=i &I gi&rd @ & fore e &1 e
(2006)

2. No secrets (2000)/TU=1gdT s} (2000)
3. Every child matters (2003)/9d% =1 Hgw@qd & (2003)

4. Child probation: messages from research (1995)/amwhaﬁ&rr: WW% X (1995)

Correct Answer :-

« Working together to safeguard child (2006)/@@@%@%% frcie? S ST
(2006)

3) Select the statement which best describes how primitive reflexes

are controlled:/ 98 Y= g il Ya Ufaadl & =01 &1 Taiwd afofd T &:
1. The gray area of the brain contains reflexes/H&Tsh & I YT ufdad g1d €

2. The midbrain controls primitive reflexes/A&d ARTh, Td Ufddd! &I AT H=al
gl

3. The cerebral cortex gives signals for reflexes to occur/IRFTA Hledy (THRKTSH
degre), Uldad! & ufed §1F & e ohd SaT 5|

4. Reinforcement by caregivers controls reflex activity/ TEHTA B3l gRI Uddd,

ufdad nfafafy Ffd sar gl

Correct Answer :-

. The midbrain controls primitive reflexes/Hed ARTSH, Hd Uldad! &I FHfHd &xar
gl

4) In home based learning, the parent interacts with children. They
(children) learn:/ T fRTH & Aral-far, g=it A siafshar w3 g1 3 @=) d@d
f
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1. To talk/dTd -l
2. To draw/f[daR &1 & fou

3. To paint the picture/fd I

4. To match the pictures/ <= fiemT

Correct Answer :-

« To talk/dld &l

5) Which of these is a misconception about heredity? /3TJafRi®ar & IR &
o & & PIRi Yie YRom 82

1. Heredity means that a person will not change/3afRidar &1 34 g for aafad &
giRadH =g oMl
2. It is a waste of effort to try to influence a trait that has a strong heredity

component/ ! Ted 3MTdfRIw g aTal 0T &1 THIfAd HRA &1 T s gial §

3. If a trait is inherited, it will have similar effects, who inherit it/afc ®Is 7T
AR B, ot favrad o vt fafae af oR e wra S g

4. All of the above/3IURad g+t

Correct Answer :-

. All of the above/IWRIad G+

6) Which of the following human characteristics are determined by

genetics? /999 & 9 & q S19-1 @&or smgafiear gr1 Fuffva gid 82
1. Height/Gn\"'_tﬂ'st

2. Skin colour/cdl &1 AT

3. Personality/aT%k_q’

4. All the above/IWRIad T4t

Correct Answer :-

« All the above/maﬁﬂﬂ-ﬁ

7) Which of the following is an example of a Specific Learning

Disability?/ /a9 & ¥ 914, vs fAfRry siftnm f1:2raddr &1 3e8ur 82
1. Mental retardation/HTRI® HgA
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2. ADHD
3. Dyslexia/fSEafaaan
4. Autistic spectrum disorders/3fificRed WaeH fadR

Correct Answer :-

. Dyslexia/fSxifaraar

8) A mild form of emotional disturbances is:/HTG-TH® HTU PT §ebT TR 3:
1. Psychosis/mﬁm

2. Autismy/ 3ifesH

3. Schizophrenia/ﬁlﬁﬁﬁ?ﬁm

4, Neurosis/?{ﬁﬁm
Correct Answer :-

« Psychosis/I3®IR™

9) One of the objectives of home-based learning is to:/ Tq 3fERTH &1

TP ST &

1. Improve the overall developmental process of 0-3 year old children/ 0-3 ¥ &

i b1 U fasrards ufdar & guR|

2. Improve the overall development of 20-22 years old/ 20-22 T¥ 3 & ANl &
I faeT & guUR

3. Improve the overall development of old age/ aTﬁQ?s‘Z W%Wﬁwffﬁw
4. All of the above/ ITRIad G+

Correct Answer :-

« Improve the overall developmental process of 0-3 year old children/ 0-3 Y &

Sl o1 gaY fabraras ufehar I guR|

%0) Score IQ of mentally retarded children: /AR Afed Tl &1 MEFY THIX il

1. 80
2.90
3. 65

4.70
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Correct Answer :-

11) Home based learning is mainly:/ xﬁqarf%nmg@wﬁ%:

1. To reach the child and family early in the Childs’ formative years/ﬁ%
IR fahrTe® aul & gRIM 9=  URaR a& e ugam

2. To reach parents/ HIdI-fdl deb Uga

3. To reach information to adults/ OID| DI BRI UG Bl

4. All the above/ISWRIiad T4t

Correct Answer :-

- To reach the child and family early in the Childs’ formative years/ S &
RS GBS a8 & SR gad g URAR adb s uga

12) Development is defined as: /3@ &1 39 YR TR foaT Srdr 8:

1. The growth of humans from birth to old age/ S @rq@qw ddh na&q‘rﬁq@

2. An adding up of more knowledge and physical skill during the life cycIe/Gﬂ?ﬂ
Th &b SR P I g 3R ew Hreran

3. A process of changing qualitatively and quantitatively with age/ &rrﬂ%ﬂm
TN 3R AT URad &t Ufshar

4. A process by which mental and physical functions accelerate with age/ T®

vferan, forad IR SR &fgew ufad- o & 1 @Rd gid &

Correct Answer :-

« A process of changing qualitatively and quantitatively with age/ &neg%@nu
U 3R AR TRdd &1 Ufehar

13) When the children participate along with parents, to pour water
for plants they develop the concept of:/ \‘rFq'Elﬁ, Hrar-foar & 1y el o
g 39 & &R} A ufaHmT Hd €, @ 3 A @R fawld #vd 8:

1. Growth/q@

2. Development/ﬁw
3. Performance/ﬁEHTE{:f
4. Colour/JT
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Correct Answer :-

. Growth/dfg

14) The average age for the appearance of the first tooth is:/94¥ gid

e ot s ey &

1. three months/di9 A8

2. seven months/ATd Tgi-

3. twelve months/aRg HgH

4. eighteen months/3/3RE e

Correct Answer :-

« Seven monthsﬂlﬁﬂ%ﬁ

15) In home based learning, as the parent read stories to children,

they learn:/ TRq AT & ATaT-fUdr s=i @) He14AT UgH? A 8, 3 WEd &
1. To read/de & forg

2.To draw/ﬁﬁﬂﬁﬁ%ﬁﬂ;f

3. To write/feRa & forg

4. To imitate/ 3 IR0l B & felT

Correct Answer :-

. To read/Ue & fa@

16) As the conversations are more at home, the children learn: / WH

qrdiaTy g4 IR 9= Hied 5

1. Reservations/3{IR&UT

2. To develop language skills/YHTST &t HRIeTAl [dHRId HRAT
3. To go out/dIgR G-l

4. To explore more/3ifY& WIS BT

Correct Answer :-

. To develop language skills/HTST B HRICTAT A RId HIAT
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17) Early manifestation of symptoms such as severe impairment in
social interaction and in communication can be diagnosed in which of

the following?/ ATHIfI® Siafdhar 3R Jowor # 179k arer S d&on &1 =y
a1, e & 1 foTeT Yod A1 & ThdT 22

1. Infantile autism/=TdT Taeli=dT (3fTeSH)

2. Infantile amnesia/=Te Wfaam (TRfmm
3. Cerebral palsy/JHf%T °Id (NS A1)

4. Rett's syndrome/Xc &I RigH

Correct Answer :-

» Infantile autism/‘ﬁ?ﬁﬁ W T (\?Aﬁ?\_ﬂ:{)

18) All of the following except one are CD4™ cells:/ f&=ift to & Rara Qv gww
CD4+ PINSTY 3':

1. Mono cytest/liﬁ:ﬁ HI%?E

2. T-helper cells/T-ge0R BHIRIHT

3. T-cyto toxic cells/T-T1gel TlRIh HIRIBIY

4, Macrophages/ﬁlﬁm

Correct Answer :-

« T-cyto toxic cells/T-HTSc! TliRId HIRIHTT

19) Home visitors give importance to children and the families and

hence they have the feeling of:/$9 ﬂiﬁ\%ﬂ‘ﬁﬂﬁ ERT g9 3R URaRT &l
wewd T oM wR = | R sy et @

1. Severity of sense of security/JR&T Bt YA B THRT
2. Highly successful/3= Jhddl

3. Energetic/EGli
4. Eagerness/3ddl

Correct Answer :-

. Severity of sense of security/YR& ®I SIHfd Dt THRT

20) Early childhood education scheme for 3-6 years age group functions

under?/3-6 3T T ¥ SRFUF FTearawd e o1, frad srdi= warfea 22

1. Sarva Siksha Abhiyan/ T4 e st
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2. Rajiv Gandhi education programme/ NSICKICREEIRISEI

3. Universalization of Elementary Education/ URf¥& e &1 grasieis o
4. Sishu Vidya Yojana/ ﬁTﬂlﬁﬁlﬂtﬁGﬁT

Correct Answer :-

. Universalization of Elementary Education/ YR e &1 ardyifie o

21) What provision provides the local authority's key duty to investigate

suspected child abuse?/ I IT WIGU, 976 gHTGR & TieTy ATHA Pt oIig & forg
T wifyetiyal &1 wa sdaa fraffya sar 82

1. .31 Children Act 1989/ S.31 &Td U 1989
2. S.47 Children Act 1989/ S.47 §Td 3{faf<gH 1989
3.S.17 Children Act 1989/ S.17 ST 3f9aH 1989
4.S.11 Children Act 2004/ S.11 T Sf&f=aw 2004

Correct Answer :-

« S.47 Children Act 1989/ S.47 91d 3{fIfTH 1989

22) The home visitors should have: /TR TP g AMT:
1. Good enough in biIinguaI/&@%ﬂ-ﬁﬁﬁ

2. Legible writing/&@w

3. Clear speech/¥J¥ dddl

4. Clear expression/Ty 3ffHadfad aral

Correct Answer :-

« Good enough in biIinguaI/&@%ﬂ-ﬁlﬁ

23) During home based learning, children experience the development

of:/ TR 3T & SR 7= g & faey & wahT #3d 8
1. Concepts/& Ul
2. Colour/<T

3. Growth/dfg
4, Reservations/3{IR&l0T

Correct Answer :-
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« Concepts/d Ul

24) The confirmatory test used to diagnose AIDS is:/ 59 (AIDS) %ﬁlﬂ'ﬁ%ﬂ
TG Y wer 8

1. ELISA
2. Western blot/ I e
3. ESR

4. PCR

Correct Answer :-
« Western blot/ 3% sdic

25) Which one of the national organization gives health and nutritional
service to children?/f a0 & ¥ 19 U1 WP WA, I= 9 W@IRA 3R N1 HaT¢ YgH
T 82

1. UNICEF
2. ICCW
3. WHO

4. FAO

Correct Answer :-

« ICCW

26) Integrated Child Protection Scheme was launched in which year?/ Eﬁﬁ
e T&0T Fror e ad ary at 152

1. 2009-2010
2.2012-2013
3. 2005-2006

4. 2008-2009

Correct Answer :-

« 2009-2010

27) During the infant's first year, one is definitely struck by:/ ﬁT{I%
w99 & SR, g8 g ud gare:
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1. The lack of growth patterns/q@ﬁﬁﬁ SHTd

2. The way we've been able to pinpoint the exact timing of each physical and

emotional event/ fSRT T8 80 Ud® YRING 3R HIGATHD Tl ot I h THIITHT Bl
A FE g e &

3. The adult like proportions to babies/ RI3{f HT 79 ST TEER 3

4. None of the above/ 378 I BIs gl

Correct Answer :-

« None of the above/sﬂﬁ@fﬁ'ﬁc:@

28) CARE is engaged in school feeding programme for children under:/ CARE

fora omg ol & gl ¥ TH A IMER HTAHH HATad HaT o
1.6-16
2.3-6
3.6-11

4, 10-12

Correct Answer :-

« 6-11

29) Which one of the following statement is INCORRECT?/ A9 # § ®14-
T HY T 82

1. The fontanelles (softspots) on a baby's skull require care full handling to
avoid injury to the brain/ AT &1 dIc Uga ¥ §dTd B & (o fRIY & HUrd IR
WieHed (g HTT) B AAUFIYAS G@HTA B DI SaIH T Bieh 6 |

2. During prenatal development, the fetus receives oxygen through the
umbilical cord, but at birth respiration becomes an independent activity/

TRa-gd 9 & SR, Ty Rig) mf-A1e & d1ey 9 SHiRiioH U @i § fohd d &
T 4 U XaoiA TAraie g1 oieht g |

3. At birth cervix opens and then placenta/ W¥d o 8Y R & & I 3{URT AT T
g aTa 3% s g oar 8|

4. The first fluid from the mother's breast (colostrum) and provides a laxative
effect as well as antibodies to disease/ ATl & X! ¥ TYH Rl (quﬂ/m\lcﬂ%gl-l)
AGoITd gRT Afohadargdd TgUr fardT ST § 3R dHestgr UHTd & J1Y INT UfaRieds erar ot
e IRAT g |

Correct Answer :-
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« At birth cervix opens and then placenta/ W%WM%E@@&WWﬁ
gor a1 9% dg 81 ol 6|

30) One of the following is the most common cause of mental retardation:/

e & @ #9, 9 Hed o1 T8 ATH FRTR:

1. Diabetes in mother / nwaﬁﬁuqﬁf:

2. Mental problems during pregnancy/ WW%WWW
3. Jaundice in mother/ Arareit H diferan

4. German measles in mother/ AT H STHA Holew/ AR

Correct Answer :-
« Mental problems during pregnancy/ THIa®IT & RTH RIS JHWT

31) The proper sequence of events during the stages of labor is:/Udd

B} AT F TR YT BT 0l v &

1. Cervical dilation, crowning, delivery, expulsion of the pIacenta/‘JﬂaTWamﬂT,

2. Amniotic sac breaks, crowning, delivery/@ﬁ?ﬂﬁaﬁﬁﬁ thcHl, AT dT digr
a1, B3, Ta

3. Crowning, amniotic sac breaks, cervical dilation, delivery/&T3{7, THHTIRS
qeft BT W, kel &1 o, Uga

4, Cervical dilation, episiotomy, crowning, deIiver/?ﬁTﬂW?bmdl, TG

(QUfST3ierH), BRI, TRId

Correct Answer :-

« Cervical dilation, crowning, delivery, expulsion of the pIacenta/‘jlalﬁﬁv_d:IT,
AU (T3, U9d, A1 a1 FAeanT

32) Psychosis is a:/JTSHIIY a1 8:
1. Profound disorder/ TR fasR

2. Mild disorder/ ATHg fdHR

3. Adopted disorder/ &Fj@%ﬂﬁw

4. Moderate disorders/ Aed fdeR

Correct Answer :-

« Mild disorder/ ATl fabR
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33) The condition of new born babies is influenced by: /7asTd RIaM Bt
< fraa yuTfa et &

1. The process of birth/ 57 &1 i1 &

2. The prenatal environment/ uﬂaqa‘amaw

3. Both of the above/B'CIﬁTﬂEﬁ:ﬁ

4. Eye, skin, & hair colour/ 3iTd, =T 3R STa &1 T

Correct Answer :-

. Both of the above/JWRIad Gl
34) Which of the following statements is false?/ 9 # q P19 HY9 Tad 82

1. Some mothers prefer to bottle feed infant's because they work outside the

home/ %3 AT, FaoTd RIY3M &I didd ¥ gl fUard € wife 3 TR & a1eR &1 ddl o

2. Mothers who breast feed always have a better parent-infant relationship/

AU DI aTelt AT & SHfHTew- Ry TaY Ted 98k 8ld &

3. Bottle feeding provides more opportunities for father-infant interactions/

Siad I go e § forar-Rig siafdhareii 3 $ifie sawR fiea §

4. Breast fed infants have fewer digestive problems/ ¥4l R dTdl fﬁ]ﬂx’rﬁﬁ
T e T B gt

Correct Answer :-

« Mothers who breast feed always have a better parent-infant relationship/

AT BRI dTel A3l & fHTgh- I YeY Y&d S8k 8id &

35) Which of the following is usually considered to be early childhood
development? /{9 & A 5 UrT: RfH® SreuTawT fAe ™y A4 SITdT 82

1. Development from birth to age 8/5F ¥ 8 T 3T A% faHN

2. Development from mental operation to formal thought/&ﬁﬁ-@ﬂﬂmw
T el faaR eifdr d@ fasm™

3. Development from preschool years to the primary grades/¥®d uﬁa&‘f@r
UTTBeh Hean dob fabr

4. Development that begins with the child’s first step and ends with formal

operational stage of adolescence/s & UYH IRV T 3RH B 3R fHRETRT &
SN Y=Te IR0 & AT g aTelT fahr
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Correct Answer :-

« Development from birth to age 8/ 8 a”sf&rrqwﬁw

36) When two or more words are put together to form a phrase or sentence,
it is an example of one of the following rules:/ 59 r4i< T aTad 914 & foe &
1 fYw Tea] B TH [TY 3@ 14T 8, ) T8 Fr7 Frawl § F v &1 Igrarvn &

1. Rules of phonetics/ i W & A

2. Rules of semantics/ Xsa1d & a9

3. Rules of syntax/ e o=y o aH

4. Rules governing by other organs/ 3= I gRI Iarferd Had

Correct Answer :-

« Rules of syntax/ I fo=rg & fAom

37) Which of the following is the main neurological birth syndrome caused by

anoxia?/ g ¥ ¥ ®11, THIfRTaT gRT 3Ud g7 df¥era o Rigiw 82
1. Down syndrome/334 RigH

2. Fragile X syndrome/T3d e RigH
3. Cerebral palsy/JHISh oTd (ASd i)

4. Cerebral vascular accident/IRsid T%geR TRTSC

Correct Answer :-

« Cerebral palsy/JHRTSH °Td (IS TIeain)

38) The term socialization refers to:/ JHTSIHI &7 3 2:

1. indoctrinating children to existing standards/ Sl & HIS[al AF®! & fae ORa
GerGll

2. training children to be obedient/ duﬂ\l'ﬁalilldolinl BIEE %%ﬁuﬁrwﬁ

3. the process of helping children learn the rules of their society/ Sl & 30+
TS o (98 &1 S T TGg HA B ulehan

4. leaching children to be socially active with other persons/ ! DI 3G Hlaad
o 1Y AT =0 Y Gichd g & fod o ST

Correct Answer :-
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. the process of helping children learn the rules of their society/ Sl & 3[04
AT & FH] &1 S H Heg B &1 ufshar

39) Home-based learning also creates:/ ﬂﬁmﬁ'ﬂﬂ-ﬁwmﬁ:
1. Community awareness/JMHgId SNRadHl

2. Rural awareness/‘J]fﬁUTGrﬂ'Wcﬂ

3. Club-oriented/add TR

4. Youth-oriented/Jdl 3fHURT

Correct Answer :-
. Community awareness/JMGId SR

40) Which act created the office of children’s commissioner?/ &g sifif-aa
SR 9Td TG U giora fopar a2

1. The children Act 2004/ ST& fIFTH 2004
2. The children Act 1996/ STd 3IfIH 1996
3. The care standards Act 2000/ S&HTd AFH FAFRTH 2000

4. The children act 1989/ ST 3{fAIH 1989

Correct Answer :-

« The children Act 2004/ ST& TAFTH 2004

41) Which of the following is categorized as when the Children are distressed
by the absence of their parents, seek interaction but also reject it when
offered. /379 ATAT-FUaT & STuRft sgagR (siafshan) & sg® ot 9= S@! squidfa o
Wgﬁ%wwmaﬁ%msﬁmwéﬁﬁ 3= fpa goft & T =
Hhdl 5?2

1. Secure disorganized/Jxfard fagfea

2. Insecure resistant/3RIard PIRRIKED

3. Secure resistant/IRf&d PIGRECY

4. Insecure avoidant/&lﬁ?’f\&lﬁqﬁ?ﬁﬁl’ﬂﬁ

Correct Answer :-

. Insecure resistant/3RIRf&d UfcRIU®
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42) Children mingle effectively with many people are:/ 3P AR | YHTL
A IS 9H 91 T g &

1. Outgoing/SfgyH!

2. Listening/%ﬁ?ﬂ

3. Communicate readily with everyone/Udd ¥ HUYU 8 TR
4. All of the above/ItRIad i

Correct Answer :-

. All of the above/IWRIad g+

43) The most common condition resulting from chromosomal abnormalities

is:/ TURTAT SFATHTIAT3H & TRUTHER=Y S qaQ WTH1d THe] 8:
1. Down syndrome/gr3- RigH

2. Hydrocephalus/gTggIRIbad

3. Sclerosis/WRRIRN

4, Aperts syndrome/\’rfq_{g ﬁ'@'q

Correct Answer :-

« Down syndrome/Sr3 RigH

44) Which of the following is a form of child abuse that cause intellectual
disability?/ {5 & I @ 1 TP TSR $T 91d gAHITNR & Wl dHeeh H&TAT BT BRI T
ST 82

1. Shaken baby syndrome/ﬁ%a@ﬁ@ﬂ

2. Abused child syndrome/ 3 dises Rigd
3. Battered baby syndrome/aE_eFa'cﬁﬁi@ﬂ

4. Damaged infant syndrome/@ﬁ%’%’ﬁ?ﬁ@ﬂ

Correct Answer :-

« Shaken baby syndrome/Ria+ st RigH

45) The IQ of trainable mentally retarded is between:/ U1 7 AF{YS
Hifed s=I @1 M3y (IQ) frud wen giaT &:

1. 50 and 25/50 31X 25

2. 50 and 70/50 3R 70
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3.10 and 25/10 3R 25
4. 60 and 75/60 3R 75

Correct Answer :-

« 50 and 70/50 3R 70
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